शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

Email ID – govtcollegelohara@gmail.com

Tell.No-07748-264001

पत्र क्रमांक 352 / पो.मैं.छा. / 2021

डौण्डी लोहारा, दिनांक 23/01/2021

प्रति,

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला—बालोद (छ.ग.)

विषय :- अनुसूचित जाति / जनजाति / पिछड़ा वर्ग पोस्ट मैद्रिक छात्रवृत्ति 2020—21 की स्वीकृत आदेश जमा करने बाबत्।

-00000-

उपरोक्त संदर्भित विषयान्तर्गत पोस्ट मैट्रिक अनुसूचित जाति/जनजाति/अन्य पिछड़ा वर्ग के स्वीकृत आदेश KYC (Sanction order) एवं (Sanction Report) सूची आपकी ओर निर्धारित प्रपत्र में भरकर आवश्यक कार्यवाही हेतु प्रेषित हैं।

- संलग्न :- (01) 3 प्रति के Sanction Order
 - (02) 3 प्रति में Sanction Report प्रपत्र।

प्राचार्य शासकीय एकत्व्य समाविद्यालय Gove हिंदी युक्तव्य समाविद्यालय किंदा हो सहीत्वो हास ध्यालिव बीलीद

23/1/202/



Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

ासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला — बालोद (छ.ग.)

Email ID – govtcollegelohara@gmail.com

Tell.No-07748-264001

पत्र क्रमांक 354 पो.मैं.छा./2021

डौण्डी लोहारा, दिनांक 23/01/2021

प्रति,

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला—बालोद (छ.ग.)

विषय :- अनुसूचित जाति / जनजाति / पिछड़ा वर्ग पोस्ट मैद्रिक छात्रवृत्ति 2020—21 की स्वीकृत आदेश जमा करने बाबत्।

____00000_____

उपरोक्त संदर्भित विषयान्तर्गत पोस्ट मैट्रिक अनुसूचित जाति/जनजाति/अन्य पिछड़ा वर्ग के <u>नवीन/नवीनीकरण</u> स्वीकृत आदेश KYC सूची आपकी ओर (Sanction order) एवं (Sanction Report) की जानकारी आवश्यक कार्यवाही हेतु प्रेषित हैं।

- संलग्न :- (01) 3 प्रति के Sanction Order
 - (02) 3 प्रति में Sanction Report पोस्ट मैंट्रिक छात्रतृत्ति वर्ष 2020–21 की जानकारी

S.n.	Name of Institution	Block	Institution	Total Sanctioned Student	Total Sanctioned Student in Sanction Report	Sanction Report Total Amount
01	Govt. Eklavya College, Dondi Lohara,Distt Balod C.G.	Dondi Lohara	ins5047	1019	1019	3425757

नवीन / नवीनीकरण		Total S	anctioned Student	in Sanction	n Report	M.
1	अजा / संख्या	राशि	अ.जन.जा / संख्या	राशि	अपि. वर्ग / संख्या	राशि
नवीन	20	86110	201	846648	135	321720
नवीनीकरण	36	134948	372	1427456	255	608875
योग	56	221058	573	2274104	390	930595

Pप्रचिष्यं pal Pप्रचिष्यं Collage (श्रीकीर्यं एकलुक् मुझ्हिह्यालय,(C.G.) डोण्डीलीहारा, जिला–बालोद



Principal
Govt.Eklavye Collage
DondiLohara,Distt.Balod (C.G.)

सहायक आयुक्त (आदिवासी विकास शाखा, बालोद) ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति वर्ष 2020—21 अंतर्गत KYC Report की संस्थावार जानकारी (शासकीय)

क्र.	संस्था का नाम	संस्था का आई.	संस्था में कुल ऑनलाईन आवेदन	संस्था द्वारा	कुल स्वीकृत की संख्या	आवेदनों	संस्था द्वा	रा कुल स्वीव	हृत राशि	कुल विद्यार्थियों	कुल स्वीकृत	रिमार्क
	1-9-9-5	डी. नं.	की संख्या	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	अनुसूचित जनजाति	अनुसूचित जाति	अ.पि.व.	की संख्या	राशि	
1	2	3	4	5	6	7	8	9	10	11	12	13
1	शासकीय एकलव्य महाविद्यालय, डौण्डीलोहारा	Ins5047	1019	573	56	390	2274122	221058	930595	1019	3425757	

-Hu

प्राचार्य शुक्रुमक्रीस्य प्रमुखन्य विद्यालय शुक्रुमक्रीस्य प्रमुखन्य देशावता व शुक्रुमक्रीस्य स्थापन

्रिस्पेक्ष ya College o Donal

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)



शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

Email ID - govtcollegelohara@gmail.com

Tell.No-07748-264001

पत्र क्रमांक 351 / पो.मैं.छा./2021

डौण्डी लोहारा, दिनांक 23/01/2020

प्रति.

सहायक आयुक्त आदिवासी विकास शाखा, बालोद जिला–बालोद (छ.ग.)

विषय :- सत्र 2020—21 में ST, SC, & OBC के विद्यार्थियों का पोस्ट मैट्रिक छात्रवृत्ति स्वीकृति बाबत्।

____00000

विषयान्तर्गत शासन द्वारा निर्धारित ऑनलाइन स्वीकृति के निर्धारित प्रक्रिया के अनुसार इस महाविद्यालय में स्नातक व स्नातकोत्तर स्तर के कुल — 1019 (ST, SC, & OBC वर्ग) नियमित छात्र/छात्राओं के स्वीकृति आदेश वर्गवार नीवन एवं नवीनीकरण इस पत्र के साथ संलग्न कर प्रेषित हैं।

संलग्न :- उपरोक्तानुसार

- (1) प्रमाण पत्र
- (2) शुल्क विवरण

Prinस्त्रप्रवा उस्तरकीयांश्कलकः मेलविद्यालयं, अत्यादांस्कानस्य मेलविद्यालयं,

123/1/2.021

A Dond Brand A Service

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

शासकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला — बालोद (छ.ग.)

Email ID – govtcollegelohara@gmail.com

Tell.No-07748-264001

डौण्डी लोहारा, दिनांक <u>2</u>3/01/2020

//प्रमाण पत्र//

प्रमाणित किया जाता है कि शैक्षणिक सत्र 2020-21 पोस्ट मैट्रिक छात्रवृत्ति हेतु-

- 01. प्रस्ताव में किसी भी छात्र / छात्रा के दो प्रस्ताव नहीं है।
- 02. विद्यार्थी जिस कक्षा में अध्ययनरत कर रहे हैं, उसी के लिये आवेदन किया है।
- 03. खाता नंबर एवं आई.एफ.एस.सी कोड एन्ट्री की जांच की गई।
- 04. निर्धारित आय सीमा से अधिक आय वाले छात्र–छात्राओं का आवेदन प्रस्ताव में नहीं है।
- 05. आवेदन फार्म में नाम, लिंग एवं अन्य जानकारी सही है।
- 06. ऑनलाईन आवेदन पत्र के साथ आवश्यक दस्तावेज एवं पालक का शपथ पत्र लिया गया है।

Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

सकीय एकलव्य महाविद्यालय डौण्डी लोहारा,जिला – बालोद (छ.ग.)

mail ID – govtcollegelohara@gmail.com

Tell.No- 07748-264001

पत्र क्रमांक

/ पो.मैं.छा. / 2021

डौण्डी लोहारा, दिनांक /01/2021

वर्ष 2020—21 पोस्ट मैट्रिक छात्रवृत्ति अंतर्गत संस्था के विद्यार्थियों के स्वीकृति आदेशों को डिसबर्स करने हेतु प्रमाण पत्र

प्रमाणित किया जाता है, ऑनलाईन पोस्ट मैट्रिक छात्रवृत्ति वर्ष 2020–21 के छात्रवृत्ति हेतु:-

- 1. संस्था द्वारा स्वीकृति किये गये Sanction Order में किसी भी छात्र—छात्रा का दो बार स्वीकृत नहीं किया गया है।
- 2. विद्यार्थी द्वारा वह जिस कक्षा, पाठ्यक्रम एवं जिस वर्ष में अध्ययनरत है, उन्ही पात्र विद्यार्थियों की स्वीकृति की गई है।
- 3. समस्त विद्यार्थियों द्वारा प्रविष्टि किया गया खाता नंबर, बैक आई.एफ.एस.सी.कोड, बैंक का सूक्ष्मता से परीक्षण किया गया एवं समस्त प्रविष्टि सहीं है।
- 4. समस्त छात्रों के आय, जाति एवं निवास प्रमाण सहीं है तथा किसी भी छात्र का आय निर्धारित आय सीमा से अधिक नहीं है।
- 5. समस्त छात्रों के आवेदन फार्म में नाम, पिता का नाम, जाति, लिंग, कक्षा, मोबाईल नंबर एवं अन्य समस्त जानकारी सही है।
- 6. यदि कोई छात्र—छात्रा को छात्रवृत्ति राशि दो बार भुगतान होता है, तो उक्त छात्र—छात्रा से अधिक भुगतान की राशि का वसूली की जिम्मेदारी संस्था की होगी।
- 7. छात्रवृत्ति स्वीकृति में छात्रों के निर्वाह भत्ता, शिक्षण शुल्क एवं अन्य शुल्क के साथ—साथ छात्रावासी, गैर छात्रावासी का शुल्क इस प्रकार समस्त छात्रों कों देय छात्रवृत्ति राशि सही सही प्रविष्ट की गई है।

संस्था में अध्ययनरत छात्रवृत्ति हेतु पात्र समस्त आरक्षित वर्ग के विद्यार्थियों के आवेदन फार्म को सूक्ष्मता से परीक्षण किया गया है, उक्त छात्र—छात्राओं की स्वीकृति निम्नानुसार है:—

		स्वीव	कृत विद्यारि	र्यों की संख्य	या		ਰ ਕ	योग
संस्था का	अन.ज	नजाति	अन्.	जाति	अन्य	पि.वर्ग	300	
आई.डी	संख्या	राशि	संख्या	राशि	संख्या	राशि	संख्या	राशि
1	2	3	4	5	6	7	8	9
Ins5047	573	2274104	56	221058	390	930595	1019	3425757

अतः उपरोक्त विवरण अनुसार संस्था द्वारा स्वीकृति कुल 1019 विद्यार्थियों को राशि रू. 3425757.00 (अक्षरी रू. चौतीस लाख पच्चीस हजार सात सौ सन्तावन रूपये मात्र) डिसबर्स करने की अनुशंसा की जाती है।

दिनांक/01/2021

हस्ताक्षर संस्था प्रमुख (प्राचार्य) Principal Gस्तिताक्षासुन्य पदासुद्धाः MondiLohara, Distt. Balod (C.G.)



Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

शासकीय एकलव्य महाविद्यालय, डौण्डीलोहारा, जिला-बालोद (छ.ग.)

शासकीय संस्थाओं में वार्षिक ली जाने वाली शुल्क का विषयवार विवरण (पोस्ट मैट्रिक छात्रवृत्ति हेतु) 2020—21

कक्षा	विषय	प्रवेश शुल्क	पंजीयन शुल्क	खेलकूद शुल्क	लायब्रे री शुल्क	चिकित्सा शुल्क	प्रायोगिक शुल्क	बीमा शुल्क	परीक्षा शुल्क	शिक्षण शुल्क	अन्य अनिवार्य शुल्क	योग
		3	4	5	6	7	8	9	10	11	12	13
1	2	3	_	12	20	3	20	-	1100	115	515	1788
ो.ए. भाग–1	हिन्दी, अंग्रेजी, भूगोल, राजनीति	3				-	20		1100	115	515	1788
ो.ए. भाग-2	विज्ञान, इतिहास, अर्थशास्त्र, हिन्दी साहित्य	3	_	12	20	3	20		1100	115	515	1788
ो.ए. भाग—3		3	- =	12	20	3	20	_	1130	115	515	1818
).एस.सी. भाग–1	हिन्दी, अंग्रेजी, प्राणीशास्त्र,	3	-	12	20	3	20	_	1130	115	515	1818
ो.एस.सी. भाग-2	वनस्पति शास्त्र, रसायनशास्त्र,	3	_	12	20	3			1130	115	515	1818
ो.एस.सी. भाग–3	सूक्ष्मजीवविज्ञान, गणित, भौतिक	3	_	12	20	3	. 20		1100	115	515	1768
ो.कॉम भाग–1		3	-	12	20	3	-		1100	115	515	1768
ो.कॉम भाग–2	हिन्दी, अंग्रेजी, अनिवार्य विषय	3	-	12	20	3	-		1100	115	515	1768
11.कॉम भाग–3		3	-	12	20	3			1315	115	700	2168
एम.ए. हिन्दी – प्रथम सेमे.		3	-	12	20	3	-		1315	115	700	2168
एम.ए. अर्थशास्त्र – प्रथम सेमे.		3		12	20	3	-	_	1315	115	700	2168
एम.ए. राजनीति विज्ञान– प्रथम सेमे.		3	_	12	20	3			1315	115	700	2168
एम.ए. इतिहास – प्रथम सेमे.		3	-	12	20	3	- 1	-	1315	115	700	2168
एम.ए. हिन्दी – तृतीय सेमे.		3	-	12	20	3			1315	115	700	2168
एम.ए. अर्थशास्त्र – तृतीय सेमे.		3	-	12	20	3		-		115	700	2168
एम.ए. राजनीति विज्ञान— तृतीय सेमे.	W.	3	-	12	20	, 3			1315	115	700	2168
एम.ए. इतिहास – तृतीय सेमे.		3	-	12	20	3			1315	115	700	2100

नोटः— अनुसूचित जाति, अनुसूचित जनजाति छात्र एवं सभी वर्ग के छात्राओं को शिक्षण शुल्क में 115.00 रू. नहीं दिया जाना है।

Pyrindipal श्रीष्ठाकीयम्भात्तस्य गृहाविद्यालयः Doncental स्विद्यालयः (C.G.

The state of the s

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1659828	SHAILESHWARI NA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1476731	BHUPESH KUMAR	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1449268	SHUSHMA SAHARE	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1447863	DAMESHWARI SINDRAME	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1445121	MINESHWARI KUMARI	Female	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	5348
1435275	BHUNESHWARI NO SURNAME	Female	M. A./Pol. Science/II ~	Renewal	6	530	3180	0	2168	2168	5348
1423559	TEK RAM	Male	B. A./Arts/III	Renewal	4	300	1200	0	1788	1788	2988
1418536	MANOHAR NETAM	Male	M. A./History/II	Renewal	6	530	3180	0	2168	2168	5348
1415791	MENKA KUMARI	Female	B. Com./Commerce/III	Renewal	5	300	1500	0	1768	1768	3268
1412480	LOKESH KUMAR	Male	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1410440	MADHURI THAKUR	Female .	M. A./Hindi/II ~	Renewal	6	530	3180	0	2168	2168	5348
1404301	KU MADHURI NO SIRNAME	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1393714	SEEMA THAKUR	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1390655	SAVITRI NO SIRNAME	Femalé	B. A./Arts/III	Renewal	7 ′	300	2100	0	1788	1788	3888
1386210	MAMTA NO SIRNAME	Female	B. A./Arts/III	Renewal	5	300	1500	. 0	1788	1788	3288
1382261	MANISHA NO SIRNAME	Female	M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	5348
1380532	TIKESHWARI KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3.724 do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees, Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Dondi Lohara, Dist. - Balad

(Signature & Seal Dalead of the Institution) DondiLohara, Distt. Balod (C.G.)

Govt. Eklavya Collage Sanction is generated by Scholarship Portal. Printed on 1/20/2021

Page 1/21 DondiLohara Distt Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number : R/10/5047/2/7/99817

Sanction Date: 14/01/2021 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1376155	NAMRATA KUMARI	Female	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	5348
1360935	HEMANT KUMAR NO SURNAME	Male	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	5348
1360765	RENUKA KHARE	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1359818	KUMARI MAHESHWARI	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1350027	CHAMPA NO SIRNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1349837	HEMLATA NO SURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1338271	RUKHMANI NO SERNAME	Female	B. Sc./Science/II	Renewal	5	300	1500	0	1818	1818	331
1338060	KU LEELESHWARI	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	328
1335398	MONIKA SUDHAKAR	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	328
1304225	DANESHWARI BHUARYA	Female	M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	534
1281720	RINKU NO SURNAME	Female .	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	534
1266247	BHUPENDRA KUMAR	Male	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	216	534
1255298	NEERAJ KUMAR	Male	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	216	8 53
1253383	SODAWARI NO SIRNAME	Female	M. A./Hindi/II	Renewal	· 6	530	3180	. 0	2168	216	8 53
1251479 N	MAHESHWARI NO SERNAME	Female ·	M. A./Hindi/II	Renewal	6	530	3180	0	2168	216	8 53
1240762 L	UKESHWARI NOSIRNAME	Female .	M. A./Hindi/II	Renewal	6	530	3180	0	2168	216	53
1219424 R	ESHMA KUMARI	Female	B. A./Arts/III	Renewal	7	300	2100	(1788	3 178	38 38
1165314 5	UREKHA ORENDRA	Female	M. A./Economics/II	Renewal	6	530	3180	(2168	3 210	58 53

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3.7.24 do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs. LY25.4.55 tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardien from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Dond 1 Lohara

Date :



ad of the Institution) Lohara, Distt. Balod (C.G.)

Govt.Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

ad of the Institution)

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Application II	Student Name	Gender						Application	s Type: Ren	ewal	
		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
	3 RENUKA THAKUR	Female	M. A./Pol. Science/II	Renewal	6	530					
1160266	GOWARDHAN SINGH SAHARE	Male	B. Sc./Science/III	Renewal			3180	0	2168	2168	534
1015243	NITESHWARI NO	Female	M. A./Hindi/II		5	300	1500	0	1818	1818	331
989370	SAVITA NONAME	Female ·	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	534
951837	GOUCHARAN CHANAPE	Male		Renewal	6	530	3180	0	2168	2168	534
	BHAGIRATHI KOSMA		M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	534
		Male	M. A./History/II	Renewal	6	530	3180	0	2168	2168	534
	DOMESHWARI KUMARI	Female	M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	
	LUKESHWARI AMLA	Female	B. Sc./Science/III	Renewal	7	300	2100	0			534
837722	OM KUMAR RAWTE	Male ·	M. A./Pol. Science/II	Renewal	6	530			1818	1818	391
. 820743	NAGESHWARI BHANDARI	Female .	M. A./Hindi/II	Renewal		-	3180	0	2168	2168	5340
737828	MANJU KUMARI	Female	M. A./Pol. Science/II	Renewal		530	3180	0	2168	2168	5348
563460	KHEMLATA KUMARI	Female	M. A./Economics/II	-		530	3180	0	2168	2168	5348
	CAVITA NO			Renewal	6	530	3180	0	2168	2168	5348
		Female	M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	5348
	RAHUL KUMAR /	Male ,	B. Sc./Science/III	Renewal	5	300	1500	.0	1818	1818	3318
-	PRATIMA PRATIMA	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1557840 P	URNIMA KUMARI	Female	M. A./Economics/II	Renewal	6	530	3180	0	2168	2168	
1553605 LI	INGESHWAR NOSURNAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788		5348
1553544 KI	IRTIBALA NOSURNAME	Female I	B. Sc./Science/III	Renewal	7	300	2100			1788	3888
ation ·			• 100 mm m			300	2100	0	1818	1818	391

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3721 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rsi 423.456 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardjan from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise description of competent authority. any other regular scholarship/stipend the fact will be immediately reported to the period it is detected.

Place: Donal 20hara, Dist. - Balod F- 03 Date: M. - 03

-w.v.

Principal

Govt. Eklavya Collage

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1552320	SOMAN LAL	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1544236	SATRUPA THAKUR	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1544019	DEVANAND NOSURNAME	Male -	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1543888	PADMAWATI NOSURNAME	Female .	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1543521	SANDHYA NOSURNAME	Female	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	5348
1543519	KEKTEE NOSURNAME	Female	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	534
1543497	ANJLIKA THAKUR	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	358
1543477	TOMESHWARI SHIVNA	Female	B. A./Arts/III	Renewal	6	300	1800	C	1788	1788	358
1543424	CHOMESHWAR LAL	Male	B. Com./Commerce/III	Renewal	7	300	2100	- 0	1768	1768	386
1543401	BHOLA RAM	Male	B. Com./Commerce/III	Renewal	7	300	2100		1768	1768	386
1534835	HIMA RANA	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	388
1535840	BHUWAN LAL	Male	B. Com./Commerce/III	Renewal	7	300	2100		1768	176	8 38
1534786	PREMCHAND BHANDARI	Male ,	B. A./Arts/III	Renewal	7	300	2100		0 1788	178	8 38
1534614	KUMÁRI BEERAM	Female	M. A./Hindi/II	Renewal	6	530	3180		0 2168	216	53
1533679	BHAGWATI NOSURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100		0 181	3 18:	18 39
1532644	TILOK KUMAR	Male	B. A./Arts/III	Renewal	6	300	180	0	0 178	8 178	38 35
1529154	AARTI NOSIRNAME	Female -	B. A./Arts/III	Renewal	7	300	210	0	0 178	8 17	88 38
1525970	JYOTI GOTAME	Female -	B. A./Arts/III	Renewal	6	30	0 180	0	0 178	8 17	88 35

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3721 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rsi 42745 Gas tuition and other fees Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Donal Lohara, Dist. - Balod

Date:

Principal

DondiLohara, Distt.Balod (C.G.)

SOURE RISEA af Cleria of the Institution) ame (Capital Leteraloid (C.G.) Govt. Eklavya Collage

Principal

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application II	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1524310	O YAMINI NOSURNAME	Female *	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1524430	MORAJDHWAJ MANDAVI	Male	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1524068	ROSHAN KUMAR KANWAR	Male'	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1522079	KAPOOR CHAND	Male -	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1521470	GANGLESH NO	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	358
1521115	YUGESHWARI KERAM	Female	B. Sc./Science/III	Renewal	6	300	1800	0	1818	1818	361
1521002	NEETA RAWTE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1520272	GOMATI NA	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1517633	JAGESHWARI NOSIRNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1515910	MADHVI NOSURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1514645	SUMAN NOSURNAME	Female	M. A./Pol. Science/II V	Renewal	6	530	3180	0	2168	2168	534
1515830	THANESHWARI NOSURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	181	39:
1515565 L	AXMI DEVI	Female	B. A./Arts/II	Renewal	5	300	1500	0	1788	178	B 32
1514533 K	CALPANA NOSURNAME	Female '	B. A./Arts/III	Renewal	6	300	1800	C	1788	178	8 35
1514183 S	UNAINA THAKUR	Female	B. Sc./Science/III	Renewal	7	300	2100	(1818	181	8 39
1513101 B	HANU PRASAD	Male	B. Com./Commerce/II	Renewal	5	300	1500		1768	176	8 32
1512635 A	MBALIKA PISDA	Female	B. A./Arts/III	Renewal	7	300	2100	(1788	178	18 38
1512566 VI	DAY KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100		1788	178	18 38

Declaration:

Place: Dondi Lohara, Dist. - Bahad

Date :

F- 12



Principal

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

(Signature Seal of Head of the Institution)

Grave Ekapitar Leters :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1512548	DINDAYAL NOSURNAME	Male :	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1512423	NANDINI RAWTE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1512409	MANISHA KHARE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1508932	DILESHWARI THAKUR	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1508784	AGESHWARI GHAWDE	Female,	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1508737	CHANDNI NAYAK	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1667896	NOMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3586
1666517	MONIKA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3610
1666332	YOGENDRA KUMAR	Male .	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1664760	POOJA THAKUR	Female.	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1664651	DOMIN THAKUR	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
1663480	TILAK RAM	Male -	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1663162	CHANDRAKANTA KOSMA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1662376	JYOTI THAKUR	Female	B. Sc./Science/II	Renewal	6	[′] 300	1800	0	1818	1818	361
1662279	REENU NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1662012	DURGA KUMARI	Female	B. A./Arts/II	Renewal	5	300	1500	0	1788	1788	328
1661781	NOOTAN NOSURNAME	Female	M. A./Hindi/II	Renewal	6	530	3180	0	2168	2168	534
1661751	TAMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 2724 do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs1424456 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the extraction of scholarship/stipend from the period it is detected.

Place: Dondi Lohara, Dist. - Balod

Date :

Principal Govt. Eklavya Collage

Head of the Institution) a.Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal **Application ID** Student Name Gender Course Type No. of Rate Maintenence Tuition Fee Other Fee **Total Fee Total Amount** Month Allowance 6 0 1788 1788 3588 1661711 KAMTU RAM Male B. A./Arts/II Renewal 300 1800 6 0 1788 1788 3588 300 1800 Female B. A./Arts/II Renewal 1660922 MINAXI GANWARE 1818 3618 300 1800 0 1818 **Female** Renewal 1659945 REETU NA B. Sc./Science/II 1788 3588 1800 0 1788 300 1659109 TANUJA THAKUR Female B. A./Arts/II Renewal 1788 3588 0 1788 1800 6 300 1658601 KEWALRAM NO Male. B. A./Arts/II Renewal 3618 0 1818 1818 6 300 1800 Female Renewal 1658305 LALESHWARI NO B. Sc./Science/II 1818 3618 0 1818 1800 6 300 Male B. Sc./Science/II Renewal 1658218 VINAY KUMAR 3588 1788 0 1788 6 300 1800 Renewal 1657953 JAYANT KUMAR Male -B. A./Arts/III 3588 1788 1788 1800 0 6 300 Renewal B. A./Arts/II 1657332 MAMTA NA Female 1788 3588 1788 0 6 300 1800 Renewal B. A./Arts/II 1657178 BHOJNARAYAN TARAM Male 3588 1788 1788 0 300 1800 6 Renewal 1656771 RUPESH KUMAR Male B. A./Arts/II 1768 3568 1768 1800 0 6 300 1656743 DROPATI NOSURNAME B. Com./Commerce/II Renewal Female 3588 1788 1800 0 1788 6 300 Renewal B. A./Arts/II **Female** 1654686 CHAMELI NA 3588 1788 1788 0 1800 6 300 Renewal B. A./Arts/II 1654571 KAMNI NOSURNAME Female 3618 0 1818 1818 6 1800 300 Renewal B. Sc./Science/II 1654540 KUNDAN LAL Male 3588 1788 0 1788 6 1800 300 Renewal B. A./Arts/II **Female** 1654503 BHUNESH NA 1788 3588 0 1788 6 300 1800 Renewal B. A./Arts/II Female 1652459 KIRAN NA 3588 1788 1788 0 1800 300 Renewal B. A./Arts/II Femalé 1652313 MANISHA NA

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 12. do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs) 42.7 45.6 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the such as for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Don Ji Lehara, Dist. - Balod

Principal

(Signature & Sen Gipald of the Institution) Dondi Lohara, Distt, Balod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

1/20/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1650074	TREEPTI NA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1649981	PUSHPA NA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1649680	HITENDRA KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1646790	DAMINI NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1646626	MANISHA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1646590	BARKHA RANI	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1646544	LEENA NOSURNAME	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1645001	KEJASHWI KARCHAL	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1641330	PARMANAND KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1640087	HIMANGANI NO	Female	B. Sc./Science/II	Renewal	6	300	1800	C	1818	181	361
1639621	SIPALI NETAM	Female	B. Com./Commerce/II	Renewal	6	300	1800		1768	176	8 356
1639413	RUKHMANI BARSEL	Female	B. Com./Commerce/II	Renewal	6	300	1800		1768	176	8 356
1639149	DEVENDRA NARAYAN	Male	B. A./Arts/III	Renewal	6	300	1800		1788	178	358
1638549	LOCHAN NO SURNAME	Male	B. A./Arts/III	Renewal	7	300	2100		0 / 178	178	388
1637086	JAYPRAKASH RAWTE	Male	B. A./Arts/III	Renewal	7	300	2100		0 178	8 178	388
1635353	KIRAN RANA	Female	B. A./Arts/II	Renewal	6	300	1800	0	0 178	8 17	88 358
1635028	TARIKA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	180	0	0 178	8 17	88 350
	PALLAVI GHARANA	Female	B. A./Arts/II	Renewal	6	300	180	0	0 178	17	88 35

Declaration:

Place: Dondi Zohara, Dist .- Baled

Date:

W- 02

Charle and College Dond

Principal

(Signature Residual Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

. . Dietod on 1/20/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1817243	PARMESHWAR KUMAR	Male ·	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1817086	KHILANAND KHARE	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1809199	SANGEETA BHUARYA	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1805921	GAYATRI BHUARYA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1801455	YOGESH KUMAR	Male ·	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1797366	PRIYA GHARANA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1790236	TIKESHWAR KUMAR	Male	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1763873	GANGA NOSURNAME	Female	B. Com./Commerce/II	Renewal	6	300	1800	(1768	1768	3568
1736380	PANNA LAL	Male	B. Sc./Science/III	Renewal	7	300	2100		1818	181	3918
1730515	PADMA BHAVRE	Female	M. A./History/II	Renewal	6	530	3180		0 2168	216	8 534
1729292	RADHIKA BHUARYA	Female	B. A./Arts/III	Renewal	7	300	2100		0 1788	178	8 388
1728160	SHASHI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	0 1788	178	358
1727666	MUNISH KUMAR	Male	B. A./Arts/II	Renewal	6	30	0 180	0	0 1788	178	358
	VEDPRAKASH MANDAVI	Male	B. Sc./Science/II	Renewal	5	30	0 150	0 '	0 181	8 18	18 33
1723240	FHULESHWARI KOSMA	Female	B. Sc./Science/II	Renewal	6	30	0 180	0	0 181	8 18	18 36
	MANJU NA	Female	B. A./Arts/II	Renewal	6	30	0 180	00	0 178	8 17	88 35
	YOGESHWAR THAKUR	Male	B. A./Arts/II	Renewal	6	30	00 180	00	0 178	38 17	788 35
	RAKESH KUMAR	Male	B. A./Arts/II	Renewal	5	30	00 150	00	0 178	38 17	788 32

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3724 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. 1427-426 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately report the open portion of scholarship/stipend from the period to detected.

Place: Dondi Lohara, Dist. - Balled F- 09 Date:

Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.) ignature & Sepai Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1718402	RUPA RAWTE	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1717254	UPEEN KUMAR	Male .	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1713456	HELAN NOSURNAME	Female.	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1711694	PURNIMA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1710352	KHULESHWAR KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1710351	LUKESHWARI NO	Female	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	534
1710112	GEETANJALI NO	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	386
1709769	SUNIL KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1709622	DINESH KUMAR	Male	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	356
1709119	CHANDRA PRABHA	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	358
1708318	HEM LATA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1706133	CHITRAREKHA BHUARYA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
1705433	DAMINI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	C	1788	1788	356
1705177	GANESHWARI TARAM	Female	B. Sc./Science/II	Renewal	6	300	1800	C	1818	181	361
1704584	PRIYANKA PRADHAN	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	386
1703200	RAJESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	356
1701795	INDRANI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	8 350
1701325	PURNIMA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	8 358

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to3724 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs1427.456as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Quardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the eventual discontinuance of scholarship/stipend from the friod it is detected.

Place: Dondi Lahara , Dist. - Balod

Date :

Principal

Govt. Eklavya Collage DondiLohara Distt Balod (C.G.) of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date : 14/01/2021
Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1700025	NITIKA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1699300	BHUPENDRA KUMAR KHARE	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1699105	SEVAN MANKAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1699088	VANISHA NOSURNAME	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	356
1698674	GAJESHWAR SINGH	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1698534	KHUMAN SINGH	Male -	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1698312	BHARTI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1696190	ASHWANI DUGGA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	350
1695686	URMILA KOSMA	Female	B. Sc./Science/II	Renewal	6	300	1800	(1818	1818	36
1695247	JITESHWARI NA	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	35
1857165	TRIVIKRAM RATRE	Male*	B. A./Arts/II	Renewal	4	300	1200		1788	178	8 29
1856846	BHUPESH KUMAR	Male	B. A./Arts/II	Renewal	5	300	1500		0 1788	3 178	8 32
1856643	DUSHYANT KUMAR	Male	B. A./Arts/II	Renewal	5	300	1500)	0 178	8 178	8 32
1855760	KUMESHWARI RAWTE	Female	B. A./Arts/II	Renewal	5	300	1500	0	0 178	8 178	18 32
1855319	HEENA LARENDRA	Female	B. A./Arts/III	Renewal	5	300	150	0	0 178	8 178	38 32
1848205	YAMAN SINGH	Male.	B. A./Arts/II	Renewal	4	300	120	0	0 178	8 178	38 25
1844609	SATRUPA RAWTE	Female	B. A./Arts/III	Renewal	5	300	150	0	0 178	17	38 3
1843834	VIDYA NOSURNAME	Female	B. A./Arts/II	Renewal	5	300	150	0	0 178	17	88 3

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 3/24 do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.4 Ladas tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported the second discontinuance of scholarship/stipend from the period it is detected.

Place: Sondi Lohard, Dist. - Balod

Date :

W-08

Dond सत्यमेव जयते

Principal
Govt.Eklavya Collage

(Signature & Seal of Head of the Institution)
Government (Capital Leters)
Conditional District Balod (C.G.)

DondiLohara, Distr. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1838942	INDRANI CHURENDRA	Female	B. Sc./Science/II	Renewal	5	300	1500	0	1818	1818	3318
1838829	SANGITA RAWTE	Female	B. A./Arts/II	Renewal	5	300	1500	0	1788	1788	3288
1822382	AVINASH NOSURNAME	Male	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1821128	DOMENDRA KUMAR THAKUR	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1806251	POOJA DHANGUN	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1797747	TIMAHL TIMAHL	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1712632	LAL SINGH	Male	B. Sc./Science/III	Renewal	6	300	1800	0	1818	1818	361
1709544	SANDHYA THAKUR THAKUR	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1694758	MANEESHA NA	Female	B. A./Arts/II	Renewal	6	300	1800	C	1788	1788	358
1694609	SEEMA NOSURNAME	Female	B. Com./Commerce/II	Renewal	6	300	1800	(1768	1768	356
1693534	RAMESHWARI NA	Female	B. Com./Commerce/II	Renewal	6	300	1800	(1768	176	356
1691328	RUPESH KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800		1788	178	8 358
1690537	NITESHWARI NOSURNAME	Female	B. Com./Commerce/II	Renewal	6	300	1800		0 1768	176	8 35
1689205	ANJU TARAM	Female '	B. A./Arts/II	Renewal	6	300	1800		0 178	178	35
1688485	SIMANT NOSURNAME	Male	B. A./Arts/II	Renewal	6	300	1800		0 178	178	35
1688328	MOHANI NA	Female	B. A./Arts/II	Renewal	6	300	180	D	0 178	8 17	35
	TULESHWAR KUMAR	Male	B. Sc./Science/II	Renewal	6	300	180	0	0 181	8 18	18 36
	ROSHAN KUMAR	Male	B. Sc./Science/II	Renewal	6	300	180	0	0 181	.8 18	18 36

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 72-1 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. W. 23-45 as tuition and other fees, Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date:

Principal

(Signature & Self HPA ead of the Institution) NaRE (Espiente Collage Name (Capital Salod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1686674	MADHU NOSURNAME	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1686386	SUBHAS KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1685692	REENA THAKUR	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1685632	NIKIT KUMAR	Male .	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1685140	RUPA KARAT	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1685045	NEELESHWARI THAKUR	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
	NISHA KARTE	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	KHOMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
	KHUSHBOO KORTIYA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
	B BHUPENDRA KUMAR	Male	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	358
	9 SONALI PISDA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
	9 SEVANT KUMAR	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
	9 SUREKHA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	C	1818	1818	361
	5 DEEPENDRA KUMAR	Male	B. Sc./Science/II	Renewal	. 6	300	1800	, ,	1818	181	8 361
	3 DINURAM NETAM	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	181	8 36:
	7 ANURADHA PISDA	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	8 350
	3 BABITA THAKUR	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	35
	7 NAKUL RAM	Male	B. A./Arts/II	Renewal	6	300	1800		178	8 178	35

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 37.24 do here by sanctioning a sum of Rs.Out of which Rs....as maintenance allowance and Rs 1427.456 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately some description to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Donai Lohara, Dist . - Balad

Date :

Principal Govt Fklavva Collage Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1676997	KUMARI LAXMI	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1675267	LUKESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1675248	RADHIKA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1674737	KAMINI RANA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1674670	ALKA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1673470	VANITA THAKUR	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	VANDANA NA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	GUNESHWARI NA	Female	B. A./Arts/II	Renewal	6	300	1800		1788	1788	358
	HULSEE NA	Female	B. A./Arts/II	Renewal	6	300	1800		1788	1788	358
	B PRIYANKA THAKUR	Female	B. A./Arts/III	Renewal	6	300	1800		0 1788	178	
	4 MONIKA NA	Female	B. A./Arts/II	Renewal	6	300	180	0	0 1788	178	
	9 TULSI RAWTE	Female	B. A./Arts/II	Renewal	6	300	180	0	0 1788	178	350
		Male	B. A./Arts/II	Renewal	6	300	180	0	0 178	8 178	
	1 NETRAM NA 11 POONAMCHAND	Male	B. A./Arts/II	Renewal	6	300	180	0	0 178	17	
	BHURKHURIYA	Female	B. Sc./Science/II	Renewal	6	30	0 180	00	0 181	18 18	318
	2 PADMA NOSURNAME	Male	B. A./Arts/II	Renewal	6	30	0 180	00	0 178	88 17	788 3
L	70 SHIVENDRA KUMAR 24 ROOPA NOSURNAME	Female	B. A./Arts/II	Renewal	6	30	00 18	00	0 17	88 1	788 3

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 37.4 do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.1927.956...as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to represent authority. In case the applicant leaves institution or otherwise prescontinues the studies or accepts any other regular scholarship/stipend the fact will be immediate we he authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Dondi Lehara, Dist. - Balod

Date:

Principal Govt. Eklavya Collage Dondil ohara Distr Balod (C.G. (Signature & Fred ph Head of the Institution)

DondiLohara, Distt. Balod (C.61

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date : 14/01/2021
Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1651343	UMESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1646574	INDU NA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1686442	DAMIN NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1683884	DEVENDRA KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1674628	KAREENA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1634993	JHANENDRA GANWARE	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1634908	GANESHWAR SINGH	Male.	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1634366	SANGEETA BHUARYA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1633896	KHUSHBU DEVHARI	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1631448	YOGESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
163143	VISHAKHA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
163138	MANISHA CHURENDRA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
163087	6 CHUNESHWARI CHURENDRA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
163051	6 CHANDRIKA NAYAK	Female	B. A./Arts/III	Renewal	7	300	2100	. 0	1788	1788	388
163018	9 HEERAMATI NARVAS	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
162769	O DINESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
162768	0 RANJU NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
162766	9 BHESH RAM	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358

Declaration:

Place: Dondi Lehara, Dist. - Balod

Date:

K- 14

Principal
Govt.Eklavya Collage
Dondil.Ohara.Distt.Balod(C.G.)

(Signature & Spatifized of the Institution)

None (Cantal Meteo bilage Dondi Lohara, Distr. Balod (C.G.)

Sovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1625222	TEMIN FANFRE	Female	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	3568
1624001	SEEMA RAWTE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1619915	BAL SINGH PISDA	Male	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	5348
1619775	AVON KUMAR TARAM	Male	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	5348
1617412	DANESHWARI M	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1617171	NANDANI CHURENDRA	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1599660	SANDHYA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	(1788	1788	3888
1598946	KAMLA BHUARYA	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	3888
1596650	VEDIKA THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100		0 1788	178	8 3888
1596352	PURNIMA RAWTE	Female	B. A./Arts/III	Renewal	7	300	2100		0 1788	178	8 3888
	LILESH RAWTE	Female	B. A./Arts/III	Renewal	7	300	2100	0	0 1788	178	3886
	DUMESHWARI GORE	Female	B. A./Arts/III	Renewal	7	300	2100	0	0 178	8 17	3881
	NAMRATA RANA	Female	B. Sc./Science/III	Renewal	7	300	210	0	0 181	8 18	18 391
	BHEEMA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	210	0	0 178	8 17	88 388
	NEELAM RAVTE	Female	B. Sc./Science/II	Renewal	5	300	150	0	0 181	18 18	33:
		Female	B. A./Arts/III	Renewal	7	300	210	0	0 179	1	788 38
	YOGESHWARI BHUARAYA	Male	M. A./Hindi/II	Renewal	6	530	0 318	30	0 21	68 2	168 53
	MAYA BHUARYA NOSURNAME				7	30	0 210	00	0 18	18 1	818 39
	RUPALI RANA	Female	B. Sc./Science/III	Renewal	7	30	0 210	00	0 18	18 1	.818

eclaration:

ertified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from rial no. 1 to 1. It is a tuition and other fees. Printed copy of online holarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ndidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts a very other regular scholarship/stipend the fact will be immediately reported the formula discontinuance of scholarship/stipend from the period it is detected.

ice: Dondi Lohary, Dist. - Balod

pn-1

F . 0

Principal
Govt.Eklavya Collage

(Signature & Sea parlead of the Institution)

Dondi Lohara, Distt. Balod (C.G.)

Dondi Lohara, Distr. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1581182	TOMESHWARI THAKUR	Female	B. Com./Commerce/II	Renewal	Month 4	300	1200	0	1768	1768	2968
1579607	DEEPAK KUMAR NOSURNAME	Male	B. A./Arts/II	Renewal	5	300	1500	0		1788	3288
1579108	KUMLESHWARI NETAM	Female	B. A./Arts/III	Renewal	7	300	2100		1788	1788	3888
1575849	PAWAN KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100		1788	1788	
1575149	GEETA GAVRE	Female	B. A./Arts/III	Renewal	6	300			-	1788	
1572131	CHAMELI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100		1788	1788	
1567512	THALESHWAR KUMAR BURRA	Male	B. A./Arts/III	Renewal	4	300	1200		1788	1788	298
1566742	NEHA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1565028	JAYSHRI NOSURNAME	Female	B. Com./Commerce/III	Renewal	7	300	2100		1768	1768	386
1562817	BHUVAN LAL	Male	B. A./Arts/III	Renewal	7	300	2100		1788	178	8 388
1562380	INDU NONOSURNAME	Female .	M. A./Hindi/II	Renewal	6	530	3180		0 2168	3 216	8 534
1543266	DEVENDRA NOSURNAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	0 1788	178	8 388
1543229	MALESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	0 1788	8 178	38
1515574	PREETI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	210	0	0 178	8 178	38
1510462	LALITA KRISHAN	Female	B. Com./Commerce/III	Renewal	7	300	210	0	0 176	8 170	58 38
1508442	HASEENA KOMA	Female	B. A./Arts/III	Renewal	7	300	210	0	0 178	17	88 38
1505937	SADHANA BHANDARI	Female	M. A./Economics/II	Renewal	6	530	318	30	0 216	58 21	68 53
1505592	MANJU NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	210	00	0 178	38 17	88 38

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 37.24 do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rsi 427.45 Gas tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the cathority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Dondi Lohara, Dist. - Behod F- 11

Date:

Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date : 14/01/2021

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1505580	PREETI NOSURNAME	Female-	B. Sc./Science/II	Renewal	5	300	1500	0	1818	1818	3318
1503269	JAGESHWARI RANA	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1502003	RAGHUVIR KHARE	Male	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1500705	GAYATRI JAMDAR	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1500547	DAMINI CHANAP	Female	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1498846	PRATIBHA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1498713	RITESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1498698	KHUSHBU NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1498683	CHAMELI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1498444	VEENA KUMARI	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1498000	NIRUPA NOSURNAME	Female	B. Com./Commerce/III	Renewal	7	300	2100	C	1768	1768	386
1496532	GIRJA KHARE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1496133	KAVITA GANWRE	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	388
1496001	NEELAM THAKUR	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	8 388
1495883	BHUMIKA KOSMA	Female	B. A./Arts/III	Renewal	7	300	2100		0 1788	3 178	8 388
149558	SHRADDHA BARSEL	Female	B. A./Arts/III	Renewal	6	300	1800		0 1788	3 178	8 350
1494274	4 SULOCHANA DUGGA	Female	B. Com./Commerce/III	Renewal	7	300	210	0	0 176	8 176	38
149374	MOHINEE KOSMA	Femalé	B. Com./Commerce/III	Renewal	7	300	210	0	0 176	8 176	38

Declaration:

Place : Dondi Lahara . Dist . - Balad

Date :

k-1,

Principal Govt.Eklavya Collage

Dondi Lohara, Distt, Balod (C.G.)

(Signature & Seal of Head of the Institution)

Court F kiavya Collage
Name (Capital Leters)
CondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date : 14/01/2021

Applications Type: Renewal

olication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1493017	KIRAN KOSMA	Femalè	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1492399	KHEM NARAYAN	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1492375	OMAN SINGH	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
1492298	IQBAL NOSURNAME	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1492257	KOMAL SINGH	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
1490984	GOVINDA NOSURNAME	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
1490882	DIVYA ARYA	Female.	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	391
	LEELA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
	DILESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	358
	JYOTI NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
	BHOLA RAM	Male-	B. Sc./Science/III	Renewal	7	300	2100	(1818	1818	39:
-	GAUKARAN NOSURNAME	Male-	B. A./Arts/II	Renewal	4	300	1200		1788	1788	3 298
	REENA NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100		1788	1788	38
	SOMIN' NOSURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	i i	1788	178	8 38
	RENUKA NOSURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100		0 1818	181	8 39
		Female	B. A./Arts/III	Renewal	7	300	2100		0 1788	178	8 38
	TOMIN NOSURNAME		B. Sc./Science/III	Renewal	7	300	210		0 1818	8 181	.8 39
	GAYTREE KULARYA MAHIMA KRIPAL	Female Female	B. Com./Commerce/III	Renewal	7	300	210		0 176	8 176	58 38

Declaration:

Place : Dendi Lehara , Dist - 644 Balod

Date :

K-07

Principal
Govt.Eklayya Collage

DondiLohara, Distt. Balod (C.G.)

(Signature tis sea Par Head of the Institution)

Dondi Lohara, Distt. Balod (C.G.)

100100

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1486287	KHEMLATA THAKUR	Female .	B. A./Arts/II	Renewal	5	300	1500	0	1788	1788	3288
1484495	ANJU NOSURNAME	Female.	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
1483819	RAJESHWARI NETAM	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1482608	SHEETAL KUMAR	Male	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	3588
1481552	JAISHWARI MASIA	Female	M. A./Pol. Science/II	Renewal	6	530	3180	0	2168	2168	5348
1478339	DEVENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3888
1477413	THANESH KUMAR	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3868
1476764	SUSHEEL KUMAR	Male	B. Com./Commerce/III	Renewal	7	300	2100	0	1768	1768	3860
1347446	GAIND LAL	Male	B. Com./Commerce/II	Renewal	6	300	1800	0	1768	1768	356
1219455	MINAKSHI KUMARI	Female	B. A./Arts/III	Renewal	5	300	1500		1788	1788	328
1622443	KU KOMIN	Female	B. A./Arts/III	Renewal	7	300	2100		1788	178	8 388
1601956	NEHA NO	Female	B. A./Arts/III	Renewal	6	300	1800		1788	178	8 358
1585288	HUMESHWARI NOSURNAME	Female	B. A./Arts/III	Renewal	6	300	1800		1788	178	358
1576995	NANKI NO SURNAME	Female	B. A./Arts/III	Renewal	7	300	2100	0 7	0 1788	178	388
1488987	DEEPIKA KOSMA	Female	B. A./Arts/III	Renewal	7	300	210	0	0 178	8 178	388
1860773	RAKHI NETAM	Female	B. A./Arts/II	Renewal	6	300	180	0	0 178	8 178	88 35
1719389	DURGESH KUMAR	Male	B. A./Arts/II	Renewal	6	300	180	0	0 178	8 17	88 35
1693275	BALKUMARI NA	Female .	B. Com./Commerce/II	Renewal	6	300	180	0	0 176	8 17	68 35

Declaration:

Place : Don-1 Lohard , Dist . - Baled

Date :

M - O GILLIA ART CONTRACTOR OF THE PROPERTY OF

Principal
Govt.Eklavya Collage
DondiLohara Distt.Balod (C.G.)

(Signature & Group a lead of the Institution)

D Mame Blabital Leters age

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/99817

Sanction Date: 14/01/2021 Applications Type: Renewal

pplication ID	Jeagene Haine	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1686585	KARUNA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
1671273	KRANTI BHAUSARYA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	361
1664313	HARSHANA DUGGA	Female	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	36
1554640	REEMA HIDKO	Female	B. A./Arts/III	Renewal	6	300	1800	0	1788	1788	35
1521283	DHANENDRA KUMAR	Male	B. Com./Commerce/II	Renewal	5	300	1500	0	1768	1768	32
1515667	SHAILESH NOSURNAME	Female	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	39
	SURAJ MANDAVI	Male	B. A./Arts/III	Renewal	5	300	1500	C	1788	1788	37
	PRITESHWAR KUMAR	Male	B. Com./Commerce/III	Renewal	5	300	1500		1768	176	8 33
			B. A./Arts/II	Renewal	5	300	1500		1788	178	8 3
1585984	HARISH KUMAR SORI	Male	D. M./MIG/II	richeval		Total	736800		672986	67298	1409



Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 71-21 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs1417-146 as tuition and other feest Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guargian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise distontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately regular scholarship/stipend from the period it is detected.

Place : Dondi Lohara, Dist . - gold

Date:

Principal Govt. Eklavva Collage (Signature & DCAIDA Head of the Institution) GONE ECHONAL SECOND STOR

BondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/2/7/100927

Sanction Date: 18/01/2021

Applications Type: Renewal

pplication ID	oranent Hume	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1861834	YOGESH KUMAR	Male	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	3288
1722557	YASHWANT KHARE	Male	B. Sc./Maths/II	Renewal	6	300	1800	0	1818	1818	3618
1685149	GAJENDRA KUMAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	358
1535818	TUMENDRA KUMAR	Male	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	388
903381	DAMESHWARI KUMARI	Female	B. A./Arts/III	Renewal	5	300	1500	0	1788	1788	328
					1	Total :	8700	0	8970	8970	1767





Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

Declaration:

Place :

Signature & Seal of Head of the Institution)

Dondi Lohara, Dist Rollinge

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1764612	KUSHLESH NOSURNAME	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1763892	NAVEEN NOSURNAME	Male	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1763702	TILAK RAM	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1762107	TAMESH KUMAR	Male	B. Com./Commerce/I	Fresh	7	300	2100	0	1768	1768	386
1762028	LOMAN KUMAR	Male	B. Com./Commerce/I	Fresh	7	300	2100	0	1768	1768	386
1761339	MENKA KULARYA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	448
1761262	DURGA KARBHAL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	448
1761074	TIKESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	448
1760846	RESHMI NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1760582	HIMANEE NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1760841	JHANITA NOSURNAME	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
1758592	DAMNEE KODAPE	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	
1758315	AMIT KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	
1779280	DEMIN THAKUR	Female	B. Com./Commerce/I	Fresh	. 8	300	2400	0	1768	1768	
	GUNJESHWARI LARENDRA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	
	NAMITA THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	
	ROOPA SAHARE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	
	NEELAM NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	381

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to a uthority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

Principal Govt Fklavya Collage

of Head of the Institution) tal Leters Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



Name of the Party of the Party

State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type : Fresh

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
679292	Sonali Ratre	Female-	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1362308	MAHESHWARI NOSIRNAME	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1219416	MENKA KUMARI	Female.	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1219436	HEMLATA RAWTE	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1219449	SANGITA KUMARI	Female.	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
1219465	RENUKA KUMARI	Female-	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
1239118	YAMINI NOSURNAME	Female.	M. A./Economics/I	Fresh	5	530	2650	0	2168	2168	481
1266381	ISHA PISDA	Female	M. A./Pol. Science/I	Fresh	5	530	2650	. 0	2168	2168	481
1287710	TIKESHWARI MANDAVI	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
1331277	DILESH KUMAR	Male	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
1341170	SURENDRA KUMAR	Male	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	481
1360967	GODAWARI KUMARI	Female.	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	483
1361883	KAMAL KISHOR	Male /	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	44
1328350	TOMESHWAR KUMAR	Male /	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	45
1362894	ROSHAN LAL THAKUR	Male	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	48
1370362	MANISHA RANA	Female	M. A./Hindi/I	Fresh	5	530	2650	C	2168	2168	48
1765789	POOJA NOSURNAME	Female /	B. Sc./Science/I	Fresh	8	300	2400	C	1818	1810	3 42

Declaration:

Place bondi Lohara, Dist. - Balod Date: M-03 Me Hands any

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

(Signature & Scan Ginal of the Institution)

Plane (Signature & Scan Ginal of the Institution)

Plane (Signature & Scan Ginal of the Institution)

Plane (Signature & Scan Ginal of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application II	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
177651	8 MEENAKSHI PISDA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
177592	7 PRATIMA BHUARYA	Female	B. Com./Commerce/I	Fresh	8	300	2400	0	1768	1768	4168
177523.	KUMARI TOMESHWARI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1774696	PRIYANKA THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1774545	PAMESHWAR NOSURNAME	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1768	1768	446
1771053	LAXMI BHAUSARYA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
1770583	PARMESHWARI RAWTE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	448
1770517	SUMITRA KOMA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	391
1770047	KIRTI NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1758091	NUTAN KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	41
1754778	RAJESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	38
1754095	CHITRAREKHA GOWARY	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	181	3 42
1752882	KHILENDRA KUMAR MANDAVI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1818	181	8 42
1752162	GOMTEE NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	178	8 38
1752095	TILESHWARI RAWATE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	181	8 42
1751677	HEENA NOSURNAME	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	181	.8 39
1751672	/IRENDRA KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	178	38 4
1751443	YOTI NOSURNAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	181	18 4

Declaration:

Place :

m- 01

Principal
Govt.Eklavya Collage

(Signature & Scandiffeed of the Institution)
Name (Capital Lefer & Ollage
Dondi Lohara, Distt. Balod (C.G.)

-- 4/20/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1748557	DAMINI KUMARI	Female.	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	4218
1748531	BHARTI CHURENDRA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
1748514	PRIYANKA KUMARI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
1747527	REKHA BHUARYA	Female -	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1746983	JAGESHWAR SINGH NOSURNAME	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1768	1768	4468
1746653	PUNESHWAR NOSURNAME	Male	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
1745848	DEVENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1744279	NIKITA UIKEY	Female ·	B. Sc./Science/I	Fresh	- 8	300	2400	0	1818	1818	4218
1742942	ESHA KUMARI	Female -	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1714998	GARIMA CHANDEL	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1673010	GESHLATA KERAM	Female.	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1645715	SAROJ KOMA	Female'	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1636966	VANDANA THAKUR	Female -	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1606032	MAHENDRA KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1595557	LAKESH KUMAR	Male .	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1545275	RANJANA KHANDE	Female	M. A./Pol. Science/I	Fresh	. 5	530	2650	0	2168	2168	4818
1532233	RAJESHWARI SAHARE	Female	M. A./Economics/I	Fresh	5	530	2650	0	2168	2168	4818

Declaration:

Place :

m-04

Principal

(Signat@o&tSealof Head of the Institution)

Amediapital Leters

Distribution (C.G.)

Govt. Eklavya Collage Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1440353	VEENA KUMARI	Female -	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1439709	RADHIKA KUMARI	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1436668	TULESHWARI NO SURNAME	Female	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1408303	PARMANAND PISDA	Male	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1404967	KAJAL KOSMA	Female	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1386528	MAMTA KUMARI	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1386398	MINAXI KUMARI	Female.	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1381342	BHUNESHWARI KUMARI	Female	M. A./Hindi/I	Fresh	5	530	2650	0	2168	2168	4818
1377851	DULAURI KUMARI	Female -	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	4818
1824097	BHAGWATI KUMARI	Female -	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1823621	CHANDRIKA BADHAI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1823519	TIKESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1822387	DAMESHWARI NOSURNAME	Female	B. Com./Commerce/II	Fresh	6	300	1800	0	1768	1768	3568
1822375	DURGESHWARI NOSURNAME	Female .	B. Sc./Science/I	Fresh	9	300	2700	· 0	1818	1818	4518
1820995	SUHADRA SUHADRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1820595	YABHISHEK KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1819521	PRAMOD KUMAR	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1819231	PAL SINGH	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888

Declaration:

Place : Date : r-06

M- 07

Principal

Principal
Govt.Eklavya Collage
DondiLohara Distt.Balod (C.G.)

(Signature of Sea of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1818813	JYOTI BHUARYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1818232	CHANDRIKA ALENDRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1817894	DIGESH KUMAR RAWTE	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1817516	HULASI THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1817321	PRATIMA RANA	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
	PARASMANI BADAI	Male .	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
	HEMA MANDAVI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
	FALESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	C	1788	1788	3888
1815759	GAURAV KUMAR THAKUR	Male	B. A./Arts/I	Fresh	7	300	2100		1788	1788	3888
	TEMAN KUMAR	Male	B. Com./Commerce/I	Fresh	7	300	2100		1768	1768	3868
1814122	DEELESHWARI THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100		1788	178	3888
1812283	DEVIKA GAWDE	Female	B. Sc./Science/I	Fresh	7	300	2100		1818	181	8 3918
1810872	VAISHNVI GANWARE	Female	B. A./Arts/I	Fresh	7	300	2100		1788	178	8 388
1809084	TAMAN LAL	Male	B. A./Arts/I	Fresh	7	300	2100)	1788	178	8 / 388
	HILESHWARI THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	0 1788	178	388
	ANJANA TARAM	Female	B, Sc./Science/I	Fresh	7	300	2100	0	0 1818	18:	18 391
	GITESHWRI PATIL	Female	B. A./Arts/I	Fresh	8	300	240	0	0 1788	3 17	38 418
	ROSHAN KUMAR DHANENDRA	Male	B. A./Arts/I	Fresh	8	300	240	0	0 178	8 17	88 418

Declaration:

Place :

m- 06

Principal
Govt.Eklavya Collage
DondiLohara.Distt.Balod(C.G.)

(Signature & Seal of Head of the Institution)

Partie Valle Collage

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1807117	PURNIMA PISDA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
1807027	GITESHWARI 9399325178 TARAM	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1806669	CHANDNI KIRENDRA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1806167	TAMESHWARI RAWTE	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	4518
1805940	ROSHANI NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1803781	PRIYANKA NAYAK	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
	LAMESHWARI MAHLA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
	POORNIMA THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
	URVASHI BHUKHARYA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	448
	JYOTI PUASARYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
	SAVITRI RATRE	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	391
	NEHA PARASGIYA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
	HEMA TARAM	Female	B. Sc./Science/I	Fresh	. 8	. 300	2400	0	1818	1818	421
	THANESHWARI PISDA	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
	KAVITA PISDA	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1768	176	3 440
			B. Sc./Science/I	Fresh	7	300	2100	0	1818	181	39
					7				1788	178	8 38
	CHANCHAL THAKUR PAWAN KUMAR	Female Male	B. A./Arts/I	Fresh	7	300				178	8

Declaration:

Place:

Date :

Principal
Govt.Eklavya Collage

(Signature & Seal of Head of the Institution)

Same (Capital Leters)

Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1798164	MAHESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1855238	AKASH KUMAR	Male .	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1845707	DEVAKI RANA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
1842612	KHILESHWARI NOSURNAME	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	391
1835737	HORILAL NOSURNAME	Male	B. Com./Commerce/I	Fresh	6	300	1800	0	1768	1768	356
1831610	KESHAV KUMAR	Male .	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1830807	KIRAN NOSURNAME	Female	B. Sc./Science/I	Fresh	7	300	2100	- 0	1818	1818	391
1829213	DEVIKA NOSURNAME	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	391
1828495	GEETA MANKAR	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1827408	HIMANSHI NOSURNAME	Female -	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	41
1827079	NEETESH KUMAR	Male	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	39
1825964	BABITA GANWARE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	38
1825701	PRATIMA THAKUR	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1768	1768	8 44
1825191	KHILESHWARI NOSURNAME	Female	B. Sc./Science/I	Fresh	' 7	300	2100		1818	181	8 39
1824944	KAVITA GUNENDRA	Female'	B. A./Arts/I	Fresh	8	300	2400) (1788	178	8 41
1824824	SEEMA KOTHARI	Female	B. A./Arts/I	Fresh	8	300	240	0	1788	178	8 41
1808884	DURGESH KUMAR	Male	B. Sc./Science/I	Fresh	7	300	210	0	1818	181	.8 39
1807636	MANIKCHAND RAWTE	Male	B. A./Arts/I	Fresh	8	300	240	0	1788	178	88 41

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately report and the second or eventual discontinuance of scholarship/stipend from the period it detected.

Place: Date:

Principal Govt. Eklavya Collage (Signature & Sea BOLDA) of the Institution) Partia (Capitalite (La)Collage Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1806711	JANKI CHURENDRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1805673	KAMNI PISDA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1800913	DEVIKA KOTHARI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1798143	RAVIKANT NOSURNAME	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1798136	TOSHAN LAL	Male -	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1798013	SHWETA KOTHARI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1797814	UMA CHURENDRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1797141	YATISH KUMAR	Male	B. A./Arts/I	Fresh	7	300	2100	C	1788	1788	3888
1796238	ABHISHEK KUMAR	Male .	B. A./Arts/I	Fresh	7	300	2100	C	1788	1788	3888
1795352	TEERENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	7	300	2100	(1768	1768	3868
1794829	GANGOTRI KISHAN	Female	B. A./Arts/I	Fresh	8	300	2400		1788	178	418
1793590	DIVYA RAWTE	Female	B. Sc./Science/I	Fresh	8	300	2400		1818	181	8 421
1793218	AARTI BHUARYA	Female	B. A./Arts/I	Fresh	9	300	2700		1788	178	8 448
1792602	DULESHWARI RAWTE	Female	B. A./Arts/I	Fresh	7	300	2100	,	0 178	178	386
1791876	KHEMAN LAL	Male	B. Sc./Science/I	Fresh	7	300	2100		0 181	8 18:	18 391
1790716	NOMESHWARI NOSURNAME	Female	B. Com./Commerce/I	Fresh	8	300	2400	0	0 176	8 17	68 41
1790451	SUDHA NOSURNAME	Female	B. Com./Commerce/I	Fresh	8	300	240	0	0 176	8 17	68 41
1790326	BHAVANA BHOYAR	Female	B. Sc./Science/I	Fresh	8	300	240	0	0 181	18	18 42

Declaration:

Place : Date : 1-12

्रेष्ट्र (क्याने जयते)

Principal

(Signature & Seel of Head of the Institution)

Govt.Eklavya Collage

DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1790304	DEEPAK KUMAR	Male	B. Sc./Science/I	Fresh	6	300	1800	0	1818	1818	3618
1790301	TULESHWARI KUMARI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1790053	BHARTI KOSMA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1790030	RESHMI PISDA	Female	B. Com./Commerce/I	Fresh	8	300	2400	0	1768	1768	4168
1789874	PREETI KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1788452	BHUPESH KUMAR	Male	B. Com./Commerce/I	Fresh	8	300	2400	0	1768	1768	4168
1788365	KAVITA THAKUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1788340	JAYANT KUMAR THAKUR	Male .	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1787902	LAXMIKANT PISDA	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
1787721	DUTIPRABHA NAYAK	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1784759	PADUM SINGH	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1784558	HITESHWARI GANVRE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1784491	KHILENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1784130	BINDU SALAME	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1784115	JYOTI KOLIYARA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1783971	YAMINI KOKILA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1783884	DULESHWAR KUMAR	Male	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	388
1783878	RAMESHWARI PATEL	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1818	1818	451

Declaration:

Place : Date : W-07

Principal
Govt.Eklavya Collage
Condit.ohara, Distt.Balod(G.G.

(Signature & Stacopadad of the Institution)

Name (Capital Jete Ca) Ilage

Dondi Lohara, Distt. Balod (C.C.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1783821	SUNIL KUMAR	Male ·	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1783803	TANUJA KORETI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1783505	VANDANA NOSURNAME	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1783501	JITESHWARI NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1783494	BHUNESHWAR NOSURNAME	Male .	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1782815	RAMESHWARI THAKUR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1781739	JAGJEEVAN GORE	Male -	B. Sc./Science/I	Fresh	7	300	2100	0	1818	1818	3918
1780167	KHILESHWARI ALENDRA	Female	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1779982	VEDPRAKASH GANWARE	Male	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1584842	DEVKI THAKUR	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
1795109	LAXMI KHARE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	178	388
1792109	UNKAR NOSURNAME	Male	B. A./Arts/I	Fresh	7	300	2100		1788	178	8 388
1791349	PRAKRITI MANDAVI	Female	B. Sc./Science/I	Fresh	7	300	2100) (1818	181	8 391
1790472	KHOMESH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700) (1788	178	448
1790185	TULESHWARI THAKUR	Female	B. Com./Commerce/I	Fresh	8	300	2400		176	8 176	58 410
1784476	TANUJA NOSURNAME	Female	B. A./Arts/I	Fresh	7	300	210	0	0 178	8 178	38
1783516	SADHANA NOSURNAME	Female	B. A./Arts/I	Fresh	9	300	270	0	0 178	8 17	88 44
1859984	VEENA BHUARYA	Female	B. A./Arts/I	Fresh	7	300	210	0	0 178	8 17	88 38

Declaration:

Place : Date : F- 12.0

Principal
Govt.Eklayve Collage

(Signature & Seigl of Heald of the Institution)

DondiLohara, Disti, Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/99816

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1846828	YOGITA PISDA	Female.	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1846775	REENA BHUARYA	Female.	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	4188
1830891	PRATIMA RAWTE	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1378457	GEND KUNWAR	Female	M. A./History/I	Fresh	5	530	2650	0	2168	2168	481
1426955	YOGENDRA KUMAR	Male	M. A./Pol. Science/I	Fresh	5	530	2650	0	2168	2168	481
						Total:	472350	0	371330	371330	84368

F-03

L- 07 W.D.

Declaration:

Place : Date :

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

(Signature & Seal of Heaparthe Institution)

Name (Capita Eleters) a Collage

Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/2/7/100930

Sanction Date: 18/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1862575	KRISHNA RAM	Male	B. Com./Commerce/I	Fresh	4	300	1200	0	1768	1768	2968
						Total :	1200	0	1768	1768	2968

w.



Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

Declaration:

Place Donal, Lohara, Dist. - Bahad Date:

(Signature & Print Head of the Institution)

Marcod Capital Lety & Collage

Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
680972	NAGESHWAR KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1505610	TIKESHWARI NOSURNAME	Female `	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	2383
1500323	PRIYANKA SAHU	Female*	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	2413
1498704	YOGESH KUMAR	Male ·	B. A./Arts/III	Renewal	7	70		115	1788	1903	2393
1498058	TILOCHAN KUMAR PATEL	Male .	B. Sc./Science/III	Renewal	7	70		115		1933	2423
1494403	HULESHWARI SONKAR	Female	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	
1492670	TARACHAND SAHU	Male .	B. Sc./Science/III	Renewal	5	85	425	0	1818	1818	224
1492445	CHANDNI SINHA	Female .	B. A./Arts/III	Renewal	6	85	510	0	1788	1788	229
1490298	KUMARI RUKHAMANI	Female-	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	232
1490199	HIMANSHI DEWANGAN	Female '	B. A./Arts/III	Renewal	6	85	510	0	1788	1788	229
1489527	BHAKTPRAHLAD SAHU	Male .	B. Com./Commerce/III	Renewal	7	70	490	115	1768	1883	237
1488102	YAMINI NISHAD	Female *	B. Sc./Science/III	Renewal	7	85	595		1818	181	8 241
1483013	SUKRITA KARSEL	Female ·	M. A./Hindi/II ⊀	Renewal	6	120	720		2168	216	8 28
1482303	PREM SINGH	Male ,	B. A./Arts/III	Renewal	6	70	420	11!	1788	3 190	3 23
1479201	/ARSHA SINHA	Female	B. Sc./Science/II	Renewal	5	85	425		1818	8 181	
1478959	DEEPAK KUMAR	Male .	B. A./Arts/III	Renewal	5	70	350	11	5 178	8 190	
1451063 P	PRABHAVATEE KUMARI	Female	B. Com./Commerce/III	Renewal	7	85	599		0 176		

Declaration:

Place: Dondi Lohara, Dist. - Bulod

Date :

Principal Govt.Eklavya Collage

DondiLohara, Distt. Balod (C.G.)

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Dondil ohara Distr Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021 Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1450877	DIGVIDAY SINGH	Male	B. Sc./Science/III	Renewal	5	70	350	115	1818	1933	2283
1447825	TUMESHWARI KUMARI	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1419229	GAJENDRA KUMAR	× Male .	M. A./Economics/II 🖌	Renewal	6	110	660	115	2168	2283	2943
1419028	MAMTA NO SURNAME	Female	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	2383
1411886	NARMADA SAHU	Female	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1402957	ROSHANI NO SURNAME	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1398560	BHOJENDRA KUMAR	Male	B. Com./Commerce/III	Renewal	7	70	490	115	1768	1883	2373
1389827	KAPIL KUMAR SINHA	Male .	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1389063	MUKESH KUMAR	X Male .	M. A./Pol. Science/II 🗙	Renewal	6	110	660	115	2168	2283	2943
1372299	MADHAVI KUMARI NO . SURNAME	Female	M. A./Pol. Science/II	Renewal	6	120	720	0	2168	2168	2888
1543408	GAGAN NISHAD	Female	B. Sc./Science/III	Renewal	7	85	595		1818	181	8 241
1536513	NEHA DEWANGAN	Female	B. A./Arts/III	Renewal	7	85	595		1788	178	8 238
1533627	LEKHPAL NOSURNAME	Femalè	B. A./Arts/III	Renewal	. 7	85	595	5	0 1788	178	8 238
1530612	DURGESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	11	5 1788	190	3 239
1527772	PADMANEE DEWANGAN	Female ⁻	B. Sc./Science/II	Renewal	6	85	510	O	0 1818	181	18 23
1524316	TRIPLA YADAV	Female,	B. Sc./Science/III	Renewal	7	85	59	5	0 1818	8 18:	18 24:
1524144	KAUSHILYA PATEL	Female	B. Sc./Science/III	Renewal	7	85	59	5	0 181	8 18	18 24

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinued the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal Govt Fklavya Collage

(Signature & Seal of Head of the Institution)

Name (Capital Esterage

Govt. Eklav) a Leterage

Bondii Obara Distt. Balod (C.G.)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

R/10/5047/3/10/100020 Sanction Number:

14/01/2021 Sanction Date:

Applications Type: Renewal

Application II	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
152289	PAYAL YADAV	Female	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	2383
152161	RESHMI SAHU	Female -	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1521319	PRATIMA SAHU	Female_	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
152051	SHIVAM KUMAR MAHOBIYA	Male	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1519747	RAKHI SAHU	Female ,	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	2413
1855575	RISHABH PATEL	Male	B. A./Arts/II	Renewal	4	70	280	115	1788	1903	2183
1853677	DEV LAL	Male -	B. A./Arts/III	Renewal	5	70	350	115	1788	1903	2253
1852832	VIKAS KUMAR SONI	Male ·	B. A./Arts/II	Renewal	5	70	350	115	1788	190	3 2253
1847135	NITESH KUMAR YADAV	Male ·	B. A./Arts/II	Renewal	5	70	350	115	1788	190	3 2253
1846166	RUPESH KUMAR YADAV	Male .	B. A./Arts/II	Renewal	5	70	350	11!	1788	190	2253
1841665	LAXMAN LAL	Male .	B. A./Arts/II	Renewal	5	70	350	11	5 1788	190	225
1777202	KEVAL SINGH	Male ,	B. A./Arts/II	Renewal	6	70	420	11	5 178	8 190	03 232
1700273	DUSHYANT KUMAR	Male .	B. A./Arts/III	Renewal	7	70	49	0 11	5 178	8 19	03 239
1698416	DURGESH KUMAR	Male .	B. A./Arts/III	Renewal	7	70	49	0 11	5 178	8 '19	03 239
1698411	SANJAY KUMAR	Male .	B. A./Arts/II	Renewal	6	7(42	0 11	.5 178	38 19	903 23
1697552	AMAR LAL	Male ·	B. A./Arts/II	Renewal	6	7	42	0 11	15 178	38 19	903 23
1698247	DULAR SINGH	Male ·	B. A./Arts/II	Renewal	6	7	0 42	20 1:	15 17	88 1	903 23
1692830	BHANESHWAR SAHU	Male ·	B. A./Arts/III	Renewal	7	7	0 49	0 1	15 17	88 1	903 23

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Principal Govt Eklayva Collage (Signature & Seal of the Institution)

DendiLohara, Distt. Balod (C.G.)

Dondi Lohara Distt Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021 Applications Type: Renewal

pplication ID		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1671238	NAKUL RAM	Male	B. A./Arts/III	Renewal	6	70	420	115	1788	1903	2323
1670504	TEJ PRATAP	Male	B. A./Arts/II	Renewal	6	70	420	115	1788	1903	2323
1655871	DEVANAND BHARADHWAJ	Male ·	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1650993	DEVPRASAD NIRMALKAR	Male :	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1650353	JHAGGAR RAM	Male -	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1641240	DINESH KUMAR	Male .	B. A./Arts/II	Renewal	6	70	420	115	1788	1903	2323
1637461	SANGRASH KUMAR	Male '	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	3 2393
1636118	CHIMAN LAL	Male -	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	3 2393
1636061	JITENDRA KUMAR DEWANGAN	Male ·	B. A./Arts/III	Renewal	7	70	490	115	1788	190	3 2393
1635297	MUKESH KUMAR	Male ·	B. A./Arts/II	Renewal	6	70	420	115	1788	190	3 232
1615062	DHANESHWARSINGH NA	Male .	B. A./Arts/III	Renewal	7	70	490	115	1788	190	3 239
1630948	BIJESH KUMAR	Male ·	B. A./Arts/III	Renewal	7	70	490	115	1788	190	239
1588280	VIJENDRA KUMAR	Male 1	B. A./Arts/III	Renewal	7	70	490	115	1788	190	239
1581721	BHUMESH KUMAR	Male ·	B. A./Arts/III	Renewal	7 7	70	490	115	5 1788	3 190	03 239
1577800	DHARMENDRA KUMAR	Male ·	B. A./Arts/III	Renewal	7	70	490	11	5 1788	8 19	03 239
1576829	GAUKARAN NO	Male ·	B. A./Arts/II	Renewal	4	70	28	11	5 178	8 19	03 218
1547547	MITHLESH KUMAR NO	Male '	B. A./Arts/III	Renewal	7	70	49	0 11	5 178	8 19	003 23
1543583	LITESHWAR KUMAR	Male .	B. A./Arts/III	Renewal	7	70	49	0 11	5 178	8 19	903 23

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disconnects the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

Govt. Ekravya Collage

Dondii ohara Distt Balod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



Government of Chhattisgarh

Sanction Number:

R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1514986	GOPICHAND PATEL	Male	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1222785	RUSTAM SINGH	Male.	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	2393
1119155	VINESHWAR KUMAR NO SERNAME	Male	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	239:
856765	LOKESH KUMAR	Male	B. A./Arts/III	Renewal	7	70	490	115	1788	1903	239
1701942	CHAITANYA KUMAR	Male ·	B. A./Arts/III	Renewal	6	70	420	115	1788	1903	232
1854198	KU. DEVNTEEN	Female	B. A./Arts/III	Renewal	5	85	425	0	1788	1788	221
1854042	KANCHAN SAHU	Female	B. A./Arts/III	Renewal	5	85	425	0	1788	1788	221
1692771	MONA NOSURNAME	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1690792	RENUKA SAHU	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1686333	NEHA YADAV	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1685309	LUKESHWARI SAHU	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1685019	KUMARI KHEMLATA	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1684803	KAJAL YADAV	Female -	B. A./Arts/II	Renewal	6	85	510	, 0	1788	1788	229
1682041 5	SADHANA CHANDRAKAR	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1682014 T	ANUJA DEWANGAN	Female.	B. A./Arts/II	Renewal	6	85	510	0	1788	178	3 229
1681292 M	IANJUSHA NOSURNAME	Female *	B. A./Arts/II	Renewal	6	85	510	0	1788	178	3 22
1679987 KI	UMARI TUKESHWARI	Female.	B. A./Arts/II	Renewal	6	85	510	0	1788	178	8 22

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Prifted copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date :

Principal

(Signature & Seal of Head of the Institution)

Name (Capital Actionage

Condit ohara. Distt. Balod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1676786	BHAVESHWARI NOSURNAME	Female-	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1676359	SONAM NA	Female ·	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	2383
1674714	KIRAN NOSURNAME	Female ·	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1674431	KESARI SINHA	Female ·	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1673073	BHARTI MATIYARA	Female •	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1672863	PRATIBHA SINHA	Female .	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1671629	AARTI NO	Female ·	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1668005	KALPANA NOSURNAME	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1667995	GITANJALI PATEL	Female .	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1663750	TULESHWARI NA	Female -	B. A./Arts/II	Renewal	. 6	85	510	0	1788	1788	229
1660916	DEEPIKA PATEL	Female '	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	238
1659449	DEVIKA NA	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1659330	ALKA YADAW	Female .	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	229
1657724	HEMLATA SAHU	Female -	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	238
1655699	NISHA BHARATDVAJ	Female ·	B. A./Arts/III	Renewal	7	85	595	0	1788	1788	238
1654650	GEETA NISHAD	Female '	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	3 229
1652142	SHEELU NA	Female -	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	3 229
1649834 H	IIMANEE NA	Female ·	B. A./Arts/II	Renewal	6	85	510	0	1788	178	8 229

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian/from all sources of the candidate have been kept safely in the office and will be subject to verification of accepts authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the period it is detected.

Place: Date :

Principal Govt. Eklavya Collage Dondi Lohara Distt Balod (C.G.) (Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date : 14/01/2021 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1648702	MAMTA SAHU	Female ,	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1641308	RUPESHWARI NOSURNAME	Female ,	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1635275	MANISHA PATEL	Female .	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1617207	MANISHA YADAV	Female ·	B. A./Arts/III	Renewal	7	85	595		1788	1788	2383
1575910	SARITA NO	Female .	B. A./Arts/III	Renewal	6	85	51		0 1788	1788	2298
1572024	GEETA SAHU	Female ·	B. A./Arts/III	Renewal	7	85	59	5	0 178	8 178	8 2383
1571000	CHITREKHA NOSURNAME	Female ,	B. A./Arts/III	Renewal	7	85	59	5	0 178	8 178	8 2383
1570880	PEHIN NOSURNAME	Female ·	B. A./Arts/III	Renewal	7	8:	5 59	5	0 178	38 179	38 2383
1570475	DEEPIKA MARATHE	Female .	B. A./Arts/III	Renewal	7	8	5 5	95	0 17	88 17	238
1562624	LAXMI PATEL	Female .	B. A./Arts/III	Renewal	7	8	5 5	95	0 17	188 17	188 238
1549513	MANDU YADAY	Female ·	B. A./Arts/III	Renewal	6	8	5 5	10	0 17	788 1	788 225
1530198	NEERAJ SAHU	Female ·	B. A./Arts/III	Renewal	7	8	15 5	95	0 1	788 1	788 23
1515820	NEHA DEWANGAN	Female .	B. A./Arts/III	Renewal	7		35	95	0 1	788	1788 23
1515651	DIPTI NOSURHAME	Fernale ,	B. A./Arts/III	Renewal	7		85	595	0 1	1788	1788 2
1512436	RITU SAHU	Female	B. A./Arts/III	Renewal	7		85	595	0	1788	1788 2
1510036	NEHA DEWANGAN	Fernale ,	B. A./Arts/III	Renewal			85	595	0	1788	1788
1506161	YAMESHWARI NOSIRNAME	Fernale '	B. A./Arts/III	Renewal		7	85	595	0	1788	1788
1505668	GAYATRI NOSURNAME	Female .	B. A./Arts/III	Renewal	-	7	85	595	0	1788	1788

Declaration:

Place : Date :

Principal
Govt.Eklavya Collage
DondiLohara, Distt.Balod (C.G.)

(Signaturier Cearl of Head of the Institution)
Government (Europea Cellas) (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1841820	TIKESHWARI NOSURNAME	Female	B. A./Arts/II	Renewal	5	85	425	0	1788	1788	2213
1834159	MAHIMA SINHA	Female	B. A./Arts/III	Renewal	5	85	425	0	1788	1788	2213
1805707	SONIYA PATEL	Female.	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
	MONALEE SHANDILYA	Female ·	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1796991	MANEESHA NISHAD	Female.	B. A./Arts/II	Renewal	6	85	510	C	1788	1788	2298
1789579	MUKESHWARI SAHU	Female .	B. A./Arts/II	Renewal	6	85	510	(1788	1788	2298
	POOJA NOSURNAME	Female	B. A./Arts/II	Renewal	6	85	510		1788	1788	2298
	GITANIALEE SINHA	Female	B. A./Arts/II	Renewal	6	85	510		1788	1788	2298
	POONAM NO	Female ·	B. A./Arts/II	Renewal	6	85	510		1788	178	8 229
	SHWETA SAHU	Female .	B. A./Arts/II	Renewal	6	85	510		0 1788	178	8 229
	DINESHWARI NOSURNAME	Female '	B. A./Arts/II	Renewal	6	85	510	0	0 1788	178	229
	MAMYUTI NA	Female	B. A./Arts/II	Renewal	6	85	51	0	0 1788	178	229
	DAMINI NO	Female :	B. A./Arts/II	Renewal	6	8:	5 51	0	0 1788	3 178	38 229
	ANITA SAHU	Female	B. A./Arts/II	Renewal	6	'8	5 51	0	0 178	8 178	88 / 22
	DOMESHWARI DHANKAR	Female	B. A./Arts/II	Renewal	6	8	5 51	.0	0 178	8 17	88 22
	AASHISH KUMAR	Female .	B. A./Arts/III	Renewal	7	8	5 59	95	0 178	17	88 23
	SATI SONKAR	Female ·	B. Sc./Science/II	Renewal	5	8	5 42	25	0 181	18 18	318 22
	YASHODA NOSURNAME	Female '	B. Sc./Science/II	Renewal	6	8	5 5	10	0 18:	18 18	318 2

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Pripted copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reprint it is detected.

Place: Date:

Principal Govt. Eklavya Collage HLohara Diett Balod (C.C

(Sign pring & See) of Head of the Institution) PondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1801952	ROSHANI DEWANGAN	Female	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1715224	PRATIMA SAHU	Female `	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1711405	ANJU SONKAR	Female -	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1707915	DULESHWARI NOSURNAME	Female .	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	2413
1705429	MAHESHWARI SINHA	Female .	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1700546	RITESHWARI DESHMUKH	Female •	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1699678	BHUNESHWARI NA	Female .	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1697821	CHANDRA KALA	Female .	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1696329	SNEHA NOSURNAME	Female ,	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1692374	DAMAYANTI NOSURNAME	Female .	B. Sc./Science/III	Renewal	7	85	595	5	1818	1818	241
1688037	RENUKA NA	Female,	B. Sc./Science/II	Renewal	6	85	510		1818	1818	3 232
1687943	SHEETAL PATEL	Female ·	B. Sc./Science/II	Renewal	6	85	510		0 1818	181	8 232
1682065	SAKSHI CHANDRAKAR	Female ·	B. Sc./Science/II	Renewal	6	85	510	0	0 1818	181	8 232
1681354	ANJALI NOSURNAME	Female 4	B. Sc./Science/II	Renewal	6	85	510	0	0 1818	181	.8 232
1681178	DEEPIKA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	85	51	0	0 1818	3 181	18 232
1681095	HARISH KUMAR	Female	B. Sc./Science/II	Renewal	6	85	51	0	0 181	18:	18 232
1669713	NEETU CHANDRAKAR	Female	B. Sc./Science/II	Renewal	6	85	51	0	0 181	8 18	18 23:
1668435	MADHU DESHMUKH	Female	B. Sc./Science/II	Renewal	6	8:	5 51	.0	0 181	8 18	18 23

Declaration:

Place :

Female-18

Govt.Eklavya Collage
DondiLohara Distt.Balod (C.G.)

(Signature: & Seal of Head of the Institution)

Dondi Lohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1667982	AISHWARIYA NOSURNAME	Female	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	2413
1665496	SUMAN SONKAR	Female *	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1660717	PRIYANKA NOSURNAME	Female	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1657248	DILESH NOSURNAME	Female -	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	2328
1656039	VANDANA SINHA	Female	B. Sc./Science/II	Renewal	6	85	510	C	1818	1818	2328
1655933	YOGITA SAHU	Female ·	B. Sc./Science/II	Renewal	6	85	510	(1818	1818	2328
1655624	PAYAL SINHA	Female -	B. Sc./Science/II	Renewal	6	85	510		1818	1818	2328
1655323	KALPANA SINHA	Female .	B. Sc./Science/II	Renewal	6	85	510		1818	1818	2328
1652597	MAMTA PATEL	Female +	B. Sc./Science/II	Renewal	6	85	510		1818	181	2328
1651955	POONAM DESHMUKH	Female	B. Sc./Science/II	Renewal	6	85	510)	0 1818	181	8 232
1650820	GEETANJALI SAHU	Female	B. Sc./Science/III	Renewal	7	85	59!	5	0 1818	181	8 241
1636658	MAMTA ATAL	Female `	B. Sc./Science/III	Renewal	7	85	59	5	0 1818	181	241
1627144	HEMA SAHU	Female	B. Sc./Science/II	Renewal	6	85	51	0	0 1818	18	18 232
1615937	MEENA YADAV	Female	B. Sc./Science/II	Renewal	6	85	51	0	0 / 181	8 18	18 237
1595747	VARSHA NOSURNAME	Female	B. Sc./Science/III	Renewal	7	8:	5 59	5	0 181	8 18	18 24
1584460	SONAM NOSIRNAME	Female	B. Sc./Science/III	Renewal	7	8	5 59	05	0 181	.8 18	318 24
1580188	KAJAL DESHMUKH	Female .	B. Sc./Science/III	Renewal	7	8	5 59	95	0 181	18 18	318 24
1575077	GUNITA SEN	Female	B. Sc./Science/III	Renewal	7	8	5 59	95	0 18:	18 1	818 24

Declaration:

Place:

Date :

Principal Govt.Eklavya Collage (Signature & Seal of Head of the Institution)

Bondil ohara Distt Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

olication ID	Student Name	Gender	Course					Applications	Type: Rene	ewal	
1567000			Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
THE RESERVE OF THE PARTY OF THE	CHANCHAL NOSURNAME	Female ,	B. Sc./Science/III	Renewal	Month		Allowance				
1565727	MINAKSHI DEWANGAN	Female -	B. Sc./Science/III		/	85	595	0	1818	1818	241
1561500	HAMESHWARI SINHA	Female .	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	241
1513801	DILESHWARI PATEL	Female ·	-	Renewal	7	85	595	0	1818	1818	241
	SAVITRI DEWANGAN		B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	241
	VIDYA DEWANGAN	Female	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	241
		Female	B. Sc./Science/III	Renewal	7	85	595	0	1818	1818	241
	HEMLATA NOSURNAME	Female	B. Sc./Science/III	Renewal	7	85	595	0		1818	241
	DIVYA KUMARI	Female .	B. Sc./Science/III	Renewal	7	85		0		1818	
1849825	BHUMIKA NOSURNAME	Female •	B. Sc./Science/III	Renewal	5	85		0	1818		241
1845917	GAYATRI SAHU	Female -	B. Sc./Science/II	Renewal	5	85	425	0		1818	
1659727	NAMRATA NA	Female *	B. Sc./Science/II	Renewal	6	85				1818	
165062	TIKESHWARI NOSURNAME	Female .	B. Sc./Science/II	Renewal	6	85	510	0	1818	1818	
163261	MANISHA YADAW	Female '	B. Sc./Science/II	Renewal	6			0		1818	
1580745	BHUNESHWARI PATEL	Female	B. Sc./Science/III			85		0		1818	232
	KHILESH KUMAR	Male ,	B. Sc./Science/II	Renewal	-	85		, 0	1818	1818	241
	L RUPESH KUMAR			Renewal	5	70	350	115	1818	1933	228
		Male ·	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	235
	SHYAMCHARAN PATEL	Male	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	235
1809104	HIMANCHAL KUMAR	Male	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	235

Declaration:

Place : Date :

Principal ovt.Eklavya Collage

(Sign phylin & issal of Head of the Institution)
Government (Applied Grants

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date : 14/01/2021
Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1793361	VIKAS BADATIYA	Male ,	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	2353
1694501	RUPESH KUMAR	Male	B. Sc./Science/III	Renewal	7	70	490	115	1818	1933	2423
1691297	SANTOSH KUMAR	Male	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	2353
1683346	MAYANK NOSURNAME	Male .	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	2353
1679946	JAYPRAKASH KALIHARI	Male .	B. Sc./Science/II	Renewal	6	70	420	115	1818	1933	2353
1629710	SUDHIR KUMAR PATEL	Male >	B. Sc./Science/III	Renewal	6	70	420	115	1818	1933	2353
1515612	PANKAJ KUMAR	Male -	B. Sc./Science/III	Renewal	7	70	490	115	1818	1933	2423
1515583	THAMAN LAL	Male -	B. Sc./Science/III	Renewal	6	70	42	0 11	1818	1933	2353
1512521	DAYANAND NOSURNAME	Male •	B. Sc./Science/II	Renewal	5	70	35	0 11	1818	193	3 228
1361042	DOMENDRA KUMAR SAHASI	Male .	B. Sc./Science/III	Renewal	5	7	35	0 11	5 1818	193	3 228
133628	7 DOMESHWAR KUMAR DEWANGAN	Male ,	B. Sc./Science/II	Renewal	6	7	0 42	11	5 1818	193	235
181626	1 DHANANJAY SAHU	Male •	B. Sc./Science/II	Renewal	6	7	0 42	20 11	.5 181	8 193	33 235
171645	SANJU YADAV	Male .	B. Com./Commerçe/II	Renewal	5	. 7	0 3	50 1	15 176	8 18	83 22
171118	4 KHUMAN LAL	Male '	B. Com./Commerce/II	Renewal	6	7	70 4	20 1	15 176	58 18	83 23
167008	DHANENDRA DAS SAHU	Male	B. Com./Commerce/III	Renewal	6	1111	70 4	20 1	15 170	68 18	383 23
166250-	SAURABH KUMAR SAHU	Male -	B. Com./Commerce/II	Renewal		1.476	70 4	20 1	15 17	68 1	883 23
1657842	DAULAT RAM	Male .	B. Com./Commerce/III	Renewal	-		70 4	190 1	.15 17	68 1	883 2

Declaration:

Place:

Date :

VO Princi

(Sign Proma & past of Head of the Institution)
Gov Amel Caputa Collage.

Dondi Lohara, Distt. Balod (C.G.)

Govt.Eklavya Collage

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date : 14/01/2021
Applications Type : Renewal

application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1633718	GITESH KUMAR	Male -	B. Com./Commerce/II	Renewal	Month	70	Allowance 280	115	1768	1883	2163
1602633	BHUPENDRA KUMAR	Male .	B. Com./Commerce/III	Renewal	7	70	490		1768	1883	2373
	RUPESHWARI SAHU	Female .	B. Com./Commerce/II	Renewal	6	85	510		1768	1768	2278
1702381	YACHNA NOSURNAME	Female ,	B. Com./Commerce/II	Renewal	6	85	510		1768	1768	2278
1701832	HULASI DEVI	Female '	B. Com./Commerce/II	Renewal	6	85	510		1768	1768	2278
1644944	MINAKSHEE HIRWANI	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1568233	YAMINI NO	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1567297	MANJU NO	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1566648	NEMIN NO	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	2363
1510806	DEEPIKA YADAV	Female	B. Com./Commerce/III	Renewal	7	85	595	0	1768	1768	236
1637144	UDAY KUMAR VISHWAKARMA	Male	M. A./Economics/II	Renewal	6	110	660	115	2168	2283	3 294
1309377	PRASHANT KUMAR	Male	M. A./Pol. Science/II	Renewal	6	110	660	115	2168	228	3 294
1282047	GULSHAN SAHU	Male ·	M. A./History/II	Renewal	6	110	660	115	2168	228	3 294
1278080	SURYAKANT DEWANGAN	Male .	M. A./Pol. Science/II	Renewal	6	110	660	115	2168	228	3 294
1268631	PARAKHMANI SAHU	Male .	M. A./History/II	Renewal	6	110	660	115	2168	228	3 294
1255614	umesh kumar	Male .	M. A./Economics/II	Renewal	6	110	660	115	2168	3 228	3 29
1252951	KISHOR KUMAR VISHWAKARMA	Male	M. A./History/II	Renewal	6	110	660	115	216	3 228	33 29
1725333	RENU YADU	Female X	M. A./Hindi/II	Renewal	6	120	720		216	8 210	58 28

Declaration:

Place : Date : Principal

(Signature cipsed) of Head of the Institution)

Gov Nakle (Capitality):

Sondi Lohara, Distt. Balod (C.G.)

Govt.Eklavya Collage

DondiLohara,Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Shudand N	Carpennes IV						Applications	Type: Rene	wai	
7,	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1638887	DHAVIKA NISHAD	Female . 🗙	M. A./Pol. Science/II	Renewal	Month	120	720	0	2168	2168	2888
1368160	ANJALI NOSURNAME	Female 1	M. A./Pol. Science/II	Renewal	6	120	720	0	2168	2168	2888
1296447	SATYAWATI SONBOIR	Female	M. A./Economics/II	Renewal	6	120	720	0	2168	2168	2888
1253633	DHARMIN NO SIRNAME	Female	M. A./Hindi/II	Renewal	6	120	720	0		2168	2888
1251359	MAMATA KUMARI	Female	M. A./Pol. Science/II	Renewal	6	120	720	0		2168	2888
1250814	KHILESHWAREE SAHU	Female	M. A./Economics/II	Renewal	6	120	720	0	2168	2168	2888
1230074	HEMA NOSURNAME	Female	M. A./Economics/II	Renewal	6	120	720	0	2168	2168	2888
1202219	DIVYA SAHU	Female	M. A./Hindi/II	Renewal	6	120	720	0	2168	2168	2888
842311	SEVANTI LARIYAWANSI	Female	M. A./Hindi/II	Renewal	6	120	720	0	2168	2168	2888
726908	PAYAL SONKAR	Female ⊀	M. A./Economics/II	Renewal	6	120	720	0	2168	2168	2888
1628681	YAMINI NO	Female	B. A./Arts/II	Renewal	6	85	510	0	1788	1788	2298
1579558	TULESHWARI SAHU	Female	B. A./Arts/III	Renewal	7	85	595	0	1788	178	8 2383
1553540	VENUKA DIDI	Female	B. A./Arts/III	Renewal	6	85	510	C	1788	178	8 229
711534	DHARMENDRA KUMAR	Male 4	M. A./Hindi/II	Renewal	6	110	660	115	2168	228	3 294
1861749	YOGITA SAHU NOSURNAME	Female.	B. A./Arts/II	Renewal	4	85	340		1788	178	38 212
1672126	BHARTI SAHU	Female	B. Sc./Science/II	Renewal	6	85	510		181	181	18 232
1641884	SHUBHAM KUMAR MAHOBIYA	Male .	B. Sc./Science/II	Renewal	5	70	350	11	5 181	8 193	33 228
1543384	RIKHAM KUMAR YADAV	Male	B. A./Arts/III	Renewal	7	70	490	11	5 178	8 19	03 239

Declaration:

Place : Date :

Principal
Govt Eklavya Collage

2 G

Name (Capital Reters):

Govt. Eklavya Collage

(Signature & Seal of Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100020

Sanction Date: 14/01/2021 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	
1520881	BHOOPAD RAM	Male	B, Com./Commerce/II	Renewal	5	70	350	115	1768	1883	223:
					+	70	350	115	1768	1883	223
1303862	YEN KUMAR	Male	B. Com./Commerce/III	Renewal)				457880	467540	59743
						Total:	129890	9660	457880	46/340	33

male-02 Fomale-00



Principal Govt. Eklavya Collage Dondi Lohara Distt Balod (C.G.

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (SigPatine Rose) of Head of the Institution)

Govt!ERE (Gapi@blesge):

Dondilohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/3/10/100931

Sanction Date: 18/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1861776	PARVATI SINHA	Female	B. A./Arts/III	Renewal	5	85	425	0	1788	1788	2213
1792010	CHITRAJAN LAL	Male	B. A./Arts/II	Renewal	6	70	420	115	1788	1903	2323
1680650	TEMCHANDRAPAL DHANKAR	Male	B. Com./Commerce/II	Renewal	6	70	420	115	1768	1883	230
1585804	DOMENDRA KUMAR	Male	B. A./Arts/II	Renewal	4	70	280	115	1788	1903	218
1492414	RAHUL KUMAR SINHA	Male	B. Sc./Science/III	Renewal	7	70	490	115	1818	1933	242
A LANGE OF THE SECOND		THE STREET				Total :	2035	460	8950		1144



Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 255T do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs. 60.1875. as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period to is detected.

Place: Dondi Lohary, Dist. - Balod Date:

(Signature & Seal of Head of the Institution)

Dondil ohara Distt Baled (C.C.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

Applications Type: Fresh

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1780348	BHUMIKA VISHWAKARMA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	2308
1778610	BUDDHIMAN YADAV	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	2288
1778441	RITENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	2288
1778077	NARENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	2288
1777385	KAVITA SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	2278
1776433	BARKHA SHRIWAS	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	2278
1776520	TIKESHWARI DEWANGAN	Female	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	2418
1775700	KUSUMLATA SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	2278
1775309	SAUMYA DESHMUKH	Female	B. Sc./Science/I	Fresh	8	70	560	0	1818	1818	2378
1775174	TEMESHWARI DESHMUKH	Female	B. Com./Commerce/I	Fresh	9	70	630	0	1768	1768	2398
1771728	TIKENDRA KUMAR SHRIVAS	Male .	B. Sc./Science/I	Fresh	7	55	385	115	1818	1933	2318
1769761	POOJA NOSURNAME	Female	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	2418
1769170	DIPESH KUMAR	Male .	B. A./Arts/I	Fresh	8	55	440	115	1788	1903	234
1768298	CHHABI LAL SAHU	Malé	B. A./Arts/I	Fresh	8	55	440	115	1788	1903	234
1766243	SANJAY KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	115	1818	1933	237
1764817	MOHIT KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	228
1763927	KUMARI PUSHPLATA	Female	B. Sc./Science/I	Fresh	6	70	420	0	1818	1818	2238

Declaration:

Place: Dondi Lahara, Dist. - Balod

Date :

Principal Govt.Eklavya Collage (Signature & Seal of Head of the Institution)

Same (Capital Leters)

Dondi Lonara Distr. Balod (C.G.)

DondiLohara, Diett. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1762543	HARISH KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	2288
1761024	TANUJA SAHU	Female	B. Com./Commerce/I	Fresh	8	70	560	0	1768	1768	2328
1760914	DAMINI DEWANGAN	Female	B. Sc./Science/I	Fresh	9	70	630	0	1818	1818	2448
1758601	KHUB DAS	Male	B. A./Arts/I·	Fresh	8	55	440	115	1788	1903	234
1756724	RASHMI SAHU	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	230
1756103	DEEPIKA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	227
1755282	KHILESHWARI PATEL	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	230
1754606	LALESHWAR KUMAR	Male	B. A./Arts/I	Fresh	8	55	440	115	1788	1903	234
1754054	JHAMIT PATEL	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	227
1753753	LILESHWAR NOSURNAME	Male	B. Sc./Science/I	Fresh	8	55	440	115	1818	1933	237
1752607	MANISHA MARAR	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	227
1750985	LAXMI NISHAD	Female	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	24:
1750550	SUBHAM KUMAR	Male	B. A./Arts/I	Fresh	8	55	440	115	1788	1903	23
1746751	DEVENDRA KUMAR	Male	B. Com./Commerce/I	Fresh	7 8	55	440	115	1768	1883	3 23
1746462	KOMALLATA SAHU	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	181	8 23
1745261	KUNTI NOSURNAME	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	181	8 23
1697380	GOURAV KUMAR	Male	B. Com./Commerce/I	Fresh	7	55	385	115	1768	188	3 22
1539001	MUKESH KUMAR SINHA	Male V	M. A./Economics/I	Fresh	5	100	500	115	2168	228	3 27

Declaration:

Place : Date :

Female-

Principal

Govt.Eklavya Collage

DondiLohara Distt.Balod (C.G.)

(Signature & Besilvot Head of the Institution)

Parke (Variable Legens Collage

Conditohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1555499	HEMA NO	Female 🗶	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	2718
1636702	POOJA DESHMUKH	Female	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	2718
1488402	SURENDRA KUMAR	Male	M. A./Economics/I	Fresh	5	100	500	115	2168	2283	2783
1448917	LAXMI SAHU	Female	M. A./Hindi/I	Fresh	4	110	440	0	2168	2168	2608
	RUKHMANI NO SERNAME	Female	M, A,/Hindi/I	Fresh	5	110	550	0	2168	2168	2711
	TARANI KUMARI	Female	M. A./Hindi/I	Fresh	4	110	440	0	2168	2168	2600
	Ku KUSUMLATA	Female	M. A./Pol. Science/I	Fresh	5	110	550	0	2168	2168	271
	ROHINI SAHU	Female	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	271
	TULESHWARI KUMARI	Female 🔀	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	271
	MANISH KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	228
		Male 🗡	M. A./Pol. Science/I	Fresh	5	100	500	115	2168	2283	278
	HARISH CHAND SINHA	-	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	271
	HEMLATA NO SIRNAME	Female:	M. A./Hindi/I	Fresh	5	110	550	0	2168	2168	8 27:
	CHITREKHA NO SERNAME	Female [*]		Fresh	5	110	550	70	2168	216	8 27
	LALITA DEWANGAN	Female •	M. A./Hindi/I	Fresh	5	100	500	115	2168	228	3 27
906836	ANIL KUMAR	Male 💉	M. A./Pol. Science/I		8	70	560	0	1788	178	8 23
1849144	GEETA NOSURNAME	Female	B. A./Arts/I	Fresh	-				-	193	13 23
1844842	DEEPESH KUMAR	Male	B. Sc./Maths/I	Fresh	7	55	385	-	-	-	
1836569 P	USHPENDRA KUMAR	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	190	13

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it

Place:

Date :

of the Institution) nara, Distt. Balod (C.G.)

Principal

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date : 14/01/2021

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1835901	YUGALKISHOR SAHU	Male .	B. Com./Commerce/I	Fresh	7	55	385	115	1768	1883	2268
1833681	ROSHAN LAL	Male .	B. A./Arts/I	Fresh	8	55	440	115	1788	1903	2343
1833573	SEWANT KUMAR	Male -	B. Com./Commerce/I	Fresh	8	55	440	115	1768	1883	232
1832182	FALESHWARI KUMARI	Female .	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	2418
1828430	RUDRANI KUMARI	Female •	B. A./Arts/I	Fresh	8	70	560	0	1788	1788	2348
1825203	ARTI NOSURNAME	Female .	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	2308
1825175	GODAWARI NOSURNAME	Female *	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	2308
1825159	USHA NOSURNAME	Female .	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	2308
1824776	ATENDRA NOSURNAME	Male .	B. Sc./Science/I	Fresh	7	55	385	115	1818	1933	2318
1824300	MANEESHA DHANKAR	Female .	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	2418
1824122	PREMA KUMARI	Female	B. A./Arts/I	Fresh	8	70	560	0	1788	1788	2348
1823194	NAVEEN DAS	Male ,	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	228
1822500	SURAJ DEWANGAN	Male .	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	228
1822063	NURESHABIYA NO SURNAME	Female	B. A./Arts/I	Fresh	7	70	490	. 0	1788	1788	227
1821529	BHOJRAM DESHMUKH	Male .	B. Com./Commerce/I	Fresh	8	55	440	115	1768	1883	232
1821422	TAMESHWAR SAHU	Male .	B. Sc./Science/I	Fresh	7	55	385	115	1818	1933	231
1820599	TARUN KUMAR	Male .	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	228
1817513	YEESHA DEWANGAN	Female.	B. Sc./Science/I	Fresh	9	70	630	0	1818	1818	244

Declaration:

Place :

Principal

Govt Eklayva Collage

(Signature & Seal of Head of the Institution)

Same (Capital Letters Collage

Dond Lohara, Distit Balod (C.G.)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

plication ID	Student Name	Gender		Month Allowance				Applications	s Type: Fres	an .	
1015540		Gender	Course	Туре		Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amoun
	GITANJALI CHANDRAKAR	Female	B. A./Arts/I	Fresh	7	70	490	0	1700		
1816522	PRAKASH CHANDRA SEN	Male -	B. Com./Commerce/I	Fresh	0	55		0	1788	1788	227
1816440	DHARMENDRA KUMAR PATEL	Male	B. Sc./Maths/I	Fresh	9		495	115	1768	1883	237
1816174	KESH KUMARI SINHA	Female	B. Sc./Science/I	Fresh	8	55	440	115	1818	1933	237
1815748	SARIKA SAHU	Female -	B. Sc./Science/I			70	490	0	1818	1818	230
1815548	JITESH KUMAR		+	Fresh	8	70	560	0	1818	1818	237
		Male .	B. Sc./Maths/I	Fresh	8	55	440	115	1818	1933	237
-	MAMTA SAHU	Female ,	B. Com./Commerce/I	Fresh	8	70	560	0	1768	1768	232
	CHANDNI NISHAD	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	227
1811946	KIRAN SAHU	Female ,	B. Sc./Science/I	Fresh	8	70	560	0	1818	1818	237
1811755	PRIYA SAHU	Female .	B. Sc./Science/I	Fresh	9	70	630	0	1818	1818	
1810963	LATA SAHU	Female -	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	244
1810693	LOKESHWARI NOSURNAME	Female .	B. A./Arts/I	Fresh	7	70	490	0			227
1810369	INDRAJEET SINHA	Male .	B. A./Arts/I	Fresh	7	55	385		1788	1788	227
1809168	DEV KUMAR NOSURNAME	Male .	B. A./Arts/I	Fresh	7	55		115	1788	1903	228
1808818	KAILASH KUMAR NOSURNAME	Male	B. Com./Commerce/I	Fresh	8		385	115	1788	1903	228
	VINOD KUMAR	Male ·	B. A./Arts/I			55	440	115	1768	1883	232
		-		Fresh	8	55	440	115	1788	1903	234
	HEMIN PATEL	Female	B. A./Arts/I	Fresh	8	70	560	0	1788	1788	234
1807276	KHILENDRA KUMAR	Male .	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	2288

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discortingues, the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it

Place: Date :

Principal

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chinattingam

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1807047	MANIBHADRA KUMAR	Male .	B. Sc./Maths/I	Fresh	7	55	385	115	1818	1933	2318
1806988	INDU SINHA	Female,	B. Sc./Science/I	Fresh	7	70	490		1818	1818	
1806873	PREM LAL SAHU	Male ·	B. A./Arts/I	Fresh	7	55	385		1788	1903	2308
1805680	VIKAS KUMAR	Male .	B. Sc./Science/I	Fresh	8	55	440		-	1933	7288
1803427	HEERAMANI KUMARI	Female ·	B. A./Arts/I	Fresh	7	70	490		1788	1788	2373
1803173	KUNJAN SINGH	Male .	B. A./Arts/II	Fresh	6	70	420			1903	2278
1801925	VASINI SAHU	Female	B. A./Arts/I	Fresh	9	70	630				2323
1801261	RAVINDRA KUMAR	Male ·	B. A./Arts/I	Fresh	7	55	385			1788	2418
1800555	KAMINEE DHANKAR	Female .	B. Sc./Science/I	Fresh	7	70	490			1903	2288
1800166	AJAY KUMAR PATIL	Male .	B. A./Arts/I	Fresh	7	55	385		1818	1818	2308
1797984	HAREESHKUMAR SAHU	Male .	B. A./Arts/I	Fresh	8	55	440	115		1903	2268
1797959	LILESHWARI DHANKAR	Female -	B. A./Arts/I	Fresh	8	70	560			1903	2343
1797706	HARISH KUMAR KUMBHKAR	Male .	B. A./Arts/I	Fresh	7	55	385			1788	2346
1797474	DILESHWARI SAHU	Female	B. A./Arts/I	Fresh	7	70	490		1788	1903	2289
1797032	MITESH KUMAR SINHA	Male	B. Sc./Science/I	Fresh	7	55				1788	
	HEMLATA SAHU	Female .	B. Com./Commerce/I	Fresh	9	70	385		1818	1933	
1794628	SEEMA VISHWAKARMA	Female .	B. A./Arts/I	Fresh	7		630			1768	
	DHANESHWARI DEWANGAN	Fernale	B. Sc./Science/I			70	490			1788	227
277137	DETRICATION DETRICATION	renae	D. SC./SCIERCE/I	Fresh	8	70	560	0	1818	1818	237

Declaration:

Place : Date : Female () On on one

Principal

(Signature & Seal of Geld of the Institution)

Signature & Seal of Geld of the Institution)

Conditional Control of Control of the Institution)

Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

Government of Chhattisparh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

Applications Type: Fresh

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1794425	NANDINI NISHAD	Female -	B. A./Arts/I	Fresh	9	70	630	0	1788	1788	2418
1794277	JANVI SARWA	Female .	B. Sc./Science/I	Fresh	8	70	560	0	1818	1818	2378
1794012	NOMESHWARI NOSURNAME	Female .	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	2278
1793411	LEELESH DESHMUKH	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	2278
1793229	DAYASINDHU PATEL	Male	B. Com./Commerce/I	Fresh	9	55	495			1883	2378
1793119	TANUJA PATEL	Female -	B. A./Arts/I	Fresh	9	70	630	0		1788	2418
1793040	TOSHI PATEL	Female-	B. Sc./Science/I	Fresh	8	70	560	0		1818	2378
1792905	OMIN NOSURNAME	Female,	B. A./Arts/I	Fresh	7	70	490	0		1788	-
1792629	DELENDRA KUMAR SINHA	Male *	B. A./Arts/I	Fresh	7	55	385	115	-	1903	
1792606	NEHA SAHU	Female -	B. Sc./Science/I	Fresh	9	70	630		1818	1818	-
1792381	TOMIN SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1788	1788	
1792162	HARSH KUMAR SAHU	Male .	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	
1791537	VARSHA SAHU	Female.	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	
1790477	VIDYABHARTI YADAV	Female .	B. A./Arts/I	Fresh	9	70	630	0		1788	
1790164	YOGESH KUMAR	Male *	B. Sc./Science/I	Fresh	7	55	385	115	-	1933	-
1789963	BHAVNA YADAV	Female-	B. Com./Commerce/I	Fresh	8	70			-		
1789190	TANU SAHU	Female	B. Sc./Science/I	Fresh	7	70					+
1789135	JOHATRIN NISHAD	Female	B. Sc./Science/I	Fresh	7	70		-	1818		

Declaration:

Place:

Date :

Principal

(Signature & Seal of Head of the Institution)

Rame (Capital Levers) ollage

DondiLohara, Distt. Balod (C.G.)

Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

- secondarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name : Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/99968

Sanction Date: 14/01/2021

opplication ID	Student Name	Gender						Applications	Type: Fresl	h	
1799200		delibel	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
	RIYA DEWANGAN	Female	B. Sc./Science/I	- Count	Month		Allowance			- Star Fee	rotal Amount
1787411	HEMSUDHA NOSURNAME	Female	B. Sc./Science/I	Fresh	7	70	490	0	1818	1818	230
	AJAY KUMAR	Male		Fresh	7	70	490	0	1818	1818	
the second second second	RAHUL KUMAR		B. Sc./Science/I	Fresh	8	55	440	115	1818	1933	
the Real Property lies and desired to the last of the	TOMENDRA KUMAR SAHU	Male	B. A./Arts/I	Fresh	7	55	385	115	1788	1903	
	S. C.	Male	B. Com./Commerce/I	Fresh	7	55	385	-	1768		
	RAHUL KUMAR	Male	B. Sc./Science/I	Fresh	7	55				1883	
1439499	PRANAV KUMAR SAHU	Male X.	M. A./Economics/I	Fresh	5	100				1933	231
1662592	BHUMIKA NOSURNAME	Female 🗸	M. A./Hindi/I	Fresh					2168	2283	278
1429464	POOJA SAHU	Female	M. A./Hindi/I		3	110	-	0	2168	2168	271
The state of the s		1.0.0	14. WALINGAT	Fresh	5	110	550	0	2168	2168	27:
						Total:	65065	6555	247382	253937	7 3190

male-04 Female-02 6

Principal Govt. Eklavya Collage DondiLohara Distt Balod (C.G.)

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ____ I do here by sanctioning a sum of Rs. ____Out of which Rs.____as maintenance allowance and Rs. ____as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period this detected.

Place:

Date :

(Signature & Seal of Head of the Institution)

Rame (Capital Levers) ollage

Condi Lohara, Distr. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/3/10/100932

Sanction Date: 18/01/2021

Applications Type: Fresh

1962510 5	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1862518	EVSHREE SINHA	Female	M. A./Economics/I	Fresh	5	110		0	2168	2168	2718
				- Land		Total :	550	0	2168	2168	

X

00



Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

Declaration:

Place: Dondi Lohary, Dist. - Balod

Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

R/10/5047/1/9/99960 Sanction Number :

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1846179	PRABHAT KUMAR	Male	B. A./Arts/II	Renewal	5	300	1500	0	1788	1788	3288
1797600	DEVVRAT TANDAN	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1797532	NISHA KOTENDRA	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
1750749	PINTU RAM	Male	B. Sc./Science/III	Renewal	7	300	2100	0	1818	1818	3918
	ROMAN KUMAR MALEKAR	Male	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	
	YASH KUMAR	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	
	DEVDAS TANDAN	Male	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	
	DEVASHISH BANJARE	Male-	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	
	MONIKA NOSURNAME	Female	B. A./Arts/II	Renewal	6	300	1800	(1788	1788	1
	KANKSHI KAUSHAL	Female	B. A./Arts/II	Renewal	6	300	1800		1788	178	358
Lancard Committee	NAVEEN KUMAR	Male	B. Com./Commerce/II	Renewal	6	300	1800		1768	176	8 356
	1	Female	B. Sc./Science/II	Renewal	6	300	1800		0 1818	181	8 361
	TRIVENI NO	Male	B. A./Arts/II	Renewal	6	300	1800	o	0 178	178	
	REKHPAL NO	Male	B. A./Arts/III	Renewal	7	300	210	0	0 178	8 178	38
	TARUN KUMAR		B. Sc./Science/II	Renewal	6	300	180	0	0 181	8 18:	18 36
	HINA NA	Female		Renewal	6	300	180	0	0 178	8 17	35
1650430	LOMESHWARI NA	Female	B. A./Arts/II			300			0 178	17	88 35
1649396	DEVIKA JOSHI	Female	B. A./Arts/II	Renewal	6	300	100			I	1

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to \$6.1 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.13.43.48.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parent parent form all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Dondi Laheurg, Dist. - Balled Date :

Principal

(Signal Uring Feat of the Institution) GOVERNA PHATERE DandiLohara, Distt. Balod (C.G.)

Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.) This Sanction is generated by Scholarship Portal, Printed on 1/20/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chinattisgarh

Sanction Number: R/10/5047/1/9/99960

Sanction Date: 14/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1648270	VEENA BARLE	Female	B. A./Arts/III	Renewal	7	300	2100	0	1788	1788	3992
	PANKAJ KUMAR MALEKAR	Male .	B. Sc./Science/II	Renewal	6	300	1800	0	1818	1818	3618
-	LALITA TANDIYA	Female ·	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	UMA BARLE	Female	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	URWASHI NO	Female -	B. A./Arts/II	Renewal	6	300	1800	0	1788	1788	3588
	SANGEETA NO	Female	M. A./Hindi/II 🗸	Renewal	6	530	3180	C	2168	2168	5348
	ROMIN BANJARE	Female*	B. A./Arts/III	Renewal	7	300	2100		1788	1788	3888
		Male	B. Com./Commerce/III	Renewal	7	300	2100		1768	176	3866
	DHEERAJ MAHESHWARI		B. Com./Commerce/III	Renewal	7	300	2100		1768	176	8 386
	MANISHA JAGNAYAK	Female -		Renewal	7	300	2100		0 1788	178	8 388
	DEVNTEEN NOSURNAME	Female-	B. A./Arts/III		7	300			0 1818	181	8 391
	KIRAN NOSURNAME	Female:	B. Sc./Science/III	Renewal	7	300	2100	-	0 1811	181	8 391
1505679	DEEPIKA NOSURNAME	Female ·	B. Sc./Science/III	Renewal				-	0 181	8 18:	18 391
1505543	VANDANA NOSURNAME	Female	B. Sc./Science/III	Renewal	1	300		-			
1498679	AMRITA NOSURNAME	Female	B. Sc./Science/III	Renewal	. 7	300	210	0		-	
1494537	KANCHAN DESHLAHRE	Female	B. Sc./Science/III	Renewal	7	300	210	0	0 181		
	PRIYANKA BARLE	Female	B. Sc./Science/III	Renewal	7	300	210	0	0 181	8 18	18 39
	AISHWARYA BHANDEKAR	Female	B. Sc./Science/III	Renewal	7	300	210	0	0 181	18	39
	ARSHA KAMDHE	Female	B. Sc./Science/II	Renewal	6	300	180	0	0 18:	18 18	318 36

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

remale - 10

A. F-1

4

(Signature & Sear of Head of the Institution)

GName (Capital Letels):

Dondi Lohara Distr. Balod (C.G.)

Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/1/9/99960

Sanction Date : 14/01/2021

Applications Type: Renewal

Total: 68280 0 63350 63350 131630



Principal
Govt.Eklavya Collage
DondiLohara,Distt.Balod(C.G.)

Declaration:

Place:

Date :

(Signature & Seignati Head of the Institution)

Dobra Mohara, Distt. Balod (C.G.)

Lis Dartol Printed on 1/20/2021

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: R/10/5047/1/9/100933

Sanction Date: 18/01/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1505647	SURESH KUMAR	Male	B. Sc./Science/III	Renewal	5	300	1500	0	1818	1818	3318
Property of the second			- softwared at			Total :	1500	0	1818	1818	3318

Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 26. I do here by sanctioning a sum of Rs.Out of which Rs....as maintenance allowance and Rs 13.45.48 as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the region it is detected.

Place: Dandi Lehary, Dist . - Rollod

Date :

(SignalPuring Figal of Head of the Institution)

DondiLohara, Distt. Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/1/9/99964

Sanction Date: 14/01/2021

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1818314	VICKY VICKY	Male	B. A./Arts/I	Fresh	9	300	2700	0	1788	1788	4488
1816948	OMESHWARI TANDAN	Female	B. A./Arts/I	Fresh	7	300	2100	0	1788	1788	3888
1811079	SHIV KUMAR	Male	B. Sc./Maths/I	Fresh	8	300	2400	0	1818	1818	4218
1811069	PRIYANKA TANDAN	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1818	1818	421
1810876	PREETI TADEY	Female	B. A./Arts/I	Fresh	8	300	2400	0	1788	1788	418
1806783	VIRENDRA KUMAR	Male -	B. A./Arts/I	Fresh	8	300	2400	(1788	1788	418
1806263	ritikesh meshram	Male	B. Com./Commerce/I	Fresh	8	300	2400		1768	1768	416
1804535	VIKASH KUMAR KAMDI	Male .	B. A./Arts/I	Fresh	7	300	2100		1788	1788	388
1799803	DAMESHWAR BAGHEL	Male.	B. A./Arts/I	Fresh	8	300	2400		1788	1788	418
1788211	PRIYA BARMAN	Female	B. A./Arts/I	Fresh	9	300	2700		1788	1788	3 448
1783512	MADHUREE NOSURNAME	Female -	B. A./Arts/I	Fresh	9	300	2700		0 1788	178	3 44
1782022	KUBER KUMAR NOSURNAME	Male .	B. A./Arts/I	Fresh	9	300	270	0	0 1788	178	8 44
1781761	NISHA JAGNAYAK	Female	B. Sc./Science/I	Fresh	8	300	240	0	0 1818	181	8 42
1781690	YASHWANT KUMAR JAGNAYAK	Male .	B. A./Arts/I	Fresh	8	300	240	0	0 1788	178	8 41
1772485	SANDHYA KOSLE	Female .	B. Sc./Science/I	Fresh	8	300	240	0	0 1818	3 181	.8 42
1760642	YOGTTA NOSURNAME	Female -	B. Sc./Science/I	Fresh	8	300	240	0	0 181	181	18 47
1754368	NEELMANI GAYAKWAD	Male	B. Sc./Science/I	Fresh	8	300	240	0	0 181	8 18:	18 4

Declaration:

Place Dondi Lohara, Dist . - Booled
Date:

Principal
Govt Eklayva Collage

(Signature & Sea of Head of the Institution)

Fame (Capital & Meas Collage

Dondi Lohara, Distt. Balod (C.G.)

DondiLohara, Distt.Balod (C.G.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Aklavya College Doundilohara Distt.Balod

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/5047/1/9/99964

Sanction Date: 14/01/2021

Applications Type: Fresh

Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID
4518	1818	1818	0	2700	300	9	Fresh	B. Sc./Science/I	Female	LIPRISHA MESHRAM	1752178
4818	2168	2168	0	2650	530	5	Fresh	M. A./Hindi/I	Female	RANJANA KUMARI	1439232
481	2168	2168	0	2650	530	5	Fresh	M. A./Hindi/I	Female	CHIKLESHWARI AMDO	1341115
8611	36710	36710	0	49400	Total :			111111111111111111111111111111111111111			

Female-03



Principal Govt. Eklavya Collage DondiLohara, Distt. Balod (C.G.)

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to 2.1 do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs & 6.1.10 ...as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guargan from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period is detected.

Place: Dondi Lohara, Dist. - Balod

Date :

(Signature & Seal of Head of the Institution) etca fisia e persollage DondiLohara, Distt. Baiod (C.G.)